Retention and Graduation Rates for All New Master's Degree-Seeking Graduate Students*--University Summary

			2n	d Fall					l Fall				4th	n Fall				5th	r Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall	Cumula	ithin 1 ve	Coho	rt Retained	TRR**		in 2 urc**	Coho	rt Retained	TRR	Cumulati	hin 2 ver	Coho	rt Retained	TRR	Cumula	thin A urc	Coho	rt Retained	TRR	Cumulative	o E vec	Cohort I	Retained	TRR	Cumulativ	ve Graduated	Cohor	t Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	335	6	1.8	264	78.8	80.6	83	24.8	152	45.4	70.1	159	47.5	66	19.7	67.2	212	63.3	0	0.0	63.3	238	71.0	10	3.0	74.0	249	74.3	4	1.2	75.5
2001	341	11	3.2	260	76.2	79.5	83	24.3	150	44.0	68.3	175	51.3	63	18.5	69.8	217	63.6	0	0.0	63.6	237	69.5	11	3.2	72.7	250	73.3	6	1.8	75.1
2002	383	11	2.9	277	72.3	75.2	93	24.3	175	45.7	70.0	183	47.8	66	17.2	65.0	237	61.9	0	0.0	61.9	262	68.4	6	1.6	70.0	273	71.3	4	1.0	72.3
2003	381	11	2.9	295	77.4	80.3	123	32.3	144	37.8	70.1	211	55.4	60	15.7	71.1	263	69.0	22	5.8	74.8	284	74.5	13	3.4	78.0	297	78.0	3	0.8	78.7
2004	410	14	3.4	311	75.9	79.3	128	31.2	154	37.6	68.8	219	53.4	52	12.7	66.1	267	65.1	14	3.4	68.5	294	71.7	4	1.0	72.7	300	73.2	4	1.0	74.1
2005	388	19	4.9	292	75.3	80.2	111	28.6	163	42.0	70.6	218	56.2	63	16.2	72.4	265	68.3	20	5.2	73.5	286	73.7	5	1.3	75.0	292	75.3	1	0.3	75.5
2006	412	16	3.9	315	76.5	80.3	155	37.6	145	35.2	72.8	247	60.0	58	14.1	74.0	293	71.1	19	4.6	75.7	312	75.7	3	0.7	76.5	317	76.9	2	0.5	77.4
2007	495	26	5.3	382	77.2	82.4	189	38.2	193	39.0	77.2	314	63.4	72	14.5	78.0	375	75.8	22	4.4	80.2	392	79.2	12	2.4	81.6	404	81.6	0	0.0	81.6
2008	475	36	7.6	355	74.7	82.3	212	44.6	144	30.3	74.9	308	64.8	45	9.5	74.3	341	71.8	21	4.4	76.2	358	75.4	8	1.7	77.1	367	77.3	5	1.1	78.3
2009	549	30	5.5	413	75.2	80.7	237	43.2	167	30.4	73.6	351	63.9	52	9.5	73.4	391	71.2	19	3.5	74.7	411	74.9	9	1.6	76.5	427	77.8	4	0.7	78.5
2010	566	19	3.4	443	78.3	81.6	234	41.3	182	32.2	73.5	361	63.8	60	10.6	74.4	412	72.8	19	3.4	76.1	433	76.5	5	0.9	77.4					
2011	557	34	6.1	426	76.5	82.6	244	43.8	180	32.3	76.1	375	67.3	56	10.1	77.4	425	76.3	15	2.7	79.0										
2012	533	41	7.7	415	77.9	85.6	267	50.1	163	30.6	80.7	374	70.2	59	11.1	81.2															
2013	621	45	7.2	464	74.7	82.0	280	45.1	201	32.4	77.5						1														1
2014	612	39	6.4	472	77.1	83.5																									
2015	686																														
			•																												-

College of Arts and Sciences

			2nd	Fall				3rd	Fall				4th	Fall				5th I	Fall				6th	Fall				7th	Fall		4
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort I	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F	Ť	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	87	1	1.1	68	78.2	79.3	26	29.9	28	32.2	62.1	40	46.0	16	18.4	64.4	50	57.5	0	0.0	57.5	55	63.2	3	3.4	66.7	57	65.5	2	2.3	67.8
2001	111	4	3.6	84	75.7	79.3	36	32.4	34	30.6	63.1	56	50.5	17	15.3	65.8	68	61.3	0	0.0	61.3	70	63.1	2	1.8	64.9	74	66.7	1	0.9	67.6
2002	104	2	1.9	71	68.3	70.2	31	29.8	28	26.9	56.7	41	39.4	9	8.7	48.1	54	51.9	0	0.0	51.9	59	56.7	0	0.0	56.7	61	58.7	3	2.9	61.5
2003	132	3	2.3	96	72.7	75.0	46	34.8	37	28.0	62.9	72	54.5	14	10.6	65.2	85	64.4	5	3.8	68.2	90	68.2	5	3.8	72.0	95	72.0	2	1.5	73.5
2004	128	2	1.6	96	75.0	76.6	45	35.2	29	22.7	57.8	64	50.0	10	7.8	57.8	76	59.4	4	3.1	62.5	82	64.1	2	1.6	65.6	85	66.4	2	1.6	68.0
2005	110	3	2.7	80	72.7	75.5	36	32.7	36	32.7	65.5	60	54.5	10	9.1	63.6	69	62.7	3	2.7	65.5	74	67.3	1	0.9	68.2	75	68.2	0	0.0	68.2
2006	129	4	3.1	108	83.7	86.8	61	47.3	36	27.9	75.2	81	62.8	13	10.1	72.9	94	72.9	3	2.3	75.2	102	79.1	0	0.0	79.1	103	79.8	1	0.8	80.6
2007	130	2	1.5	100	76.9	78.5	53	40.8	41	31.5	72.3	83	63.8	12	9.2	73.1	96	73.8	4	3.1	76.9	100	76.9	2	1.5	78.5	102	78.5	0	0.0	78.5
2008	151	2	1.3	121	80.1	81.5	58	38.4	44	29.1	67.5	88	58.3	17	11.3	69.5	96	63.6	7	4.6	68.2	102	67.5	3	2.0	69.5	108	71.5	2	1.3	72.8
2009	184	3	1.6	144	78.3	79.9	65	35.3	53	28.8	64.1	100	54.3	13	7.1	61.4	112	60.9	6	3.3	64.1	120	65.2	1	0.5	65.8	126	68.5	2	1.1	69.6
2010	178	2	1.1	137	77.0	78.1	51	28.7	56	31.5	60.1	91	51.1	17	9.6	60.7	109	61.2	8	4.5	65.7	118	66.3	3	1.7	68.0					
2011	154	2	1.3	115	74.7	76.0	53	34.4	51	33.1	67.5	94	61.0	9	5.8	66.9	103	66.9	5	3.2	70.1										
2012	132	6	4.5	96	72.7	77.3	63	47.7	32	24.2	72.0	87	65.9	10	7.6	73.5															
2013	161	6	3.7	126	78.3	82.0	68	42.2	48	29.8	72.0																				
2014	151	2	1.3	125	82.8	84.1																									
2015	169																														

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

College of Business and Public Affairs

			2nd	Fall		1		3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		1
ohort	N 1st Fall		Graduated in 1 yr	Cohort F	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F	Ī	п	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	77	4	5.2	54	70.1	75.3	27	35.1	29	37.7	72.7	41	53.2	10	13.0	66.2	49	63.6	0	0.0	63.6	55	71.4	2	2.6	74.0	57	74.0	0	0.0	74.0
2001	74	5	6.8	49	66.2	73.0	19	25.7	32	43.2	68.9	42	56.8	10	13.5	70.3	47	63.5	0	0.0	63.5	49	66.2	3	4.1	70.3	52	70.3	2	2.7	73.0
2002	107	6	5.6	72	67.3	72.9	26	24.3	43	40.2	64.5	58	54.2	15	14.0	68.2	67	62.6	0	0.0	62.6	72	67.3	1	0.9	68.2	74	69.2	1	0.9	70.1
2003	80	5	6.3	65	81.3	87.5	34	42.5	29	36.3	78.8	55	68.8	12	15.0	83.8	64	80.0	2	2.5	82.5	66	82.5	2	2.5	85.0	68	85.0	0	0.0	85.0
2004	88	9	10.2	55	62.5	72.7	33	37.5	28	31.8	69.3	47	53.4	9	10.2	63.6	57	64.8	2	2.3	67.0	58	65.9	0	0.0	65.9	58	65.9	2	2.3	68.2
2005	85	15	17.6	48	56.5	74.1	40	47.1	22	25.9	72.9	53	62.4	10	11.8	74.1	60	70.6	2	2.4	72.9	61	71.8	1	1.2	72.9	63	74.1	0	0.0	74.1
2006	88	11	12.5	60	68.2	80.7	45	51.1	23	26.1	77.3	60	68.2	11	12.5	80.7	66	75.0	3	3.4	78.4	68	77.3	0	0.0	77.3	68	77.3	0	0.0	77.3
2007	92	19	20.7	51	55.4	76.1	47	51.1	27	29.3	80.4	58	63.0	17	18.5	81.5	70	76.1	4	4.3	80.4	72	78.3	1	1.1	79.3	75	81.5	0	0.0	81.5
2008	108	25	23.1	72	66.7	89.8	72	66.7	21	19.4	86.1	84	77.8	8	7.4	85.2	93	86.1	1	0.9	87.0	94	87.0	0	0.0	87.0	94	87.0	0	0.0	87.0
2009	118	13	11.0	77	65.3	76.3	66	55.9	22	18.6	74.6	83	70.3	7	5.9	76.3	89	75.4	2	1.7	77.1	91	77.1	1	0.8	78.0	92	78.0	1	0.8	78.8
2010	146	9	6.2	106	72.6	78.8	61	41.8	51	34.9	76.7	94	64.4	15	10.3	74.7	107	73.3	2	1.4	74.7	110	75.3	0	0.0	75.3	110	75.3	0	0.0	75.3
2011	148	22	14.9	104	70.3	85.1	83	56.1	36	24.3	80.4	99	66.9	19	12.8	79.7	117	79.1	2	1.4	80.4										
2012	153	22	14.4	121	79.1	93.5	78	51.0	51	33.3	84.3	115	75.2	16	10.5	85.6															
2013	199	24	12.1	137	68.8	80.9	91	45.7	61	30.7	76.4																				
2014	223	22	9.9	164	73.5	83.4																1									
2015	212																														

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		4
ohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort I	Retained	TRR		Graduated n 3 yrs	Cohort	Retained	TRR	Cumulative within	Graduated of 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated o 6 yrs	Cohort	Retained	
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
00	110	1	0.9	90	81.8	82.7	26	23.6	53	48.2	71.8	45	40.9	28	25.5	66.4	69	62.7	0	0.0	62.7	80	72.7	3	2.7	75.5	85	77.3	2	1.8	
01	94	2	2.1	75	79.8	81.9	16	17.0	54	57.4	74.5	37	39.4	31	33.0	72.3	59	62.8	0	0.0	62.8	67	71.3	5	5.3	76.6	73	77.7	2	2.1	
2	97	1	1.0	74	76.3	77.3	22	22.7	57	58.8	81.4	50	51.5	21	21.6	73.2	63	64.9	0	0.0	64.9	71	73.2	4	4.1	77.3	76	78.4	0	0.0	
3	81	2	2.5	62	76.5	79.0	22	27.2	32	39.5	66.7	37	45.7	18	22.2	67.9	51	63.0	10	12.3	75.3	58	71.6	4	4.9	76.5	61	75.3	1	1.2	
4	95	1	1.1	78	82.1	83.2	26	27.4	47	49.5	76.8	52	54.7	21	22.1	76.8	64	67.4	7	7.4	74.7	71	74.7	2	2.1	76.8	74	77.9	0	0.0	
;	114	0	0.0	94	82.5	82.5	20	17.5	66	57.9	75.4	60	52.6	28	24.6	77.2	77	67.5	13	11.4	78.9	89	78.1	2	1.8	79.8	91	79.8	1	0.9	
5	101	1	1.0	73	72.3	73.3	23	22.8	43	42.6	65.3	50	49.5	21	20.8	70.3	65	64.4	9	8.9	73.3	71	70.3	2	2.0	72.3	74	73.3	1	1.0	
	179	5	2.8	151	84.4	87.2	67	37.4	81	45.3	82.7	117	65.4	28	15.6	81.0	138	77.1	11	6.1	83.2	146	81.6	7	3.9	85.5	152	84.9	0	0.0	
	125	8	6.4	96	76.8	83.2	41	32.8	53	42.4	75.2	74	59.2	14	11.2	70.4	85	68.0	8	6.4	74.4	91	72.8	3	2.4	75.2	93	74.4	1	0.8	
)	138	11	8.0	106	76.8	84.8	56	40.6	61	44.2	84.8	95	68.8	20	14.5	83.3	109	79.0	6	4.3	83.3	113	81.9	4	2.9	84.8	117	84.8	0	0.0	
	107	5	4.7	86	80.4	85.0	48	44.9	41	38.3	83.2	76	71.0	18	16.8	87.9	90	84.1	3	2.8	86.9	92	86.0	1	0.9	86.9					Т
l	123	1	0.8	98	79.7	80.5	35	28.5	60	48.8	77.2	76	61.8	23	18.7	80.5	94	76.4	5	4.1	80.5										
2	116	3	2.6	89	76.7	79.3	45	38.8	51	44.0	82.8	70	60.3	23	19.8	80.2															
;	114	2	1.8	91	79.8	81.6	35	30.7	57	50.0	80.7																				
ı	97	3	3.1	78	80.4	83.5																									
5	151						1																								1

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

 $^{**} TRR-Total\ retention\ rate = percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

College of Health Sciences

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort F	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated 5 yrs	Cohort I	Retained	TRR		e Graduated in 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F	İ	n	% 1F	n	% 1F		п	% 1F	n	% 1F		п	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	49	0	0.0	43	87.8	87.8	3	6.1	36	73.5	79.6	27	55.1	10	20.4	75.5	35	71.4	0	0.0	71.4	39	79.6	1	2.0	81.6	40	81.6	0	0.0	81.6
2001	54	0	0.0	48	88.9	88.9	10	18.5	30	55.6	74.1	36	66.7	5	9.3	75.9	39	72.2	0	0.0	72.2	46	85.2	1	1.9	87.0	46	85.2	0	0.0	85.2
2002	67	2	3.0	54	80.6	83.6	13	19.4	45	67.2	86.6	32	47.8	18	26.9	74.6	51	76.1	0	0.0	76.1	55	82.1	1	1.5	83.6	57	85.1	0	0.0	85.1
2003	78	1	1.3	63	80.8	82.1	20	25.6	38	48.7	74.4	42	53.8	14	17.9	71.8	57	73.1	2	2.6	75.6	61	78.2	1	1.3	79.5	63	80.8	0	0.0	80.8
2004	81	2	2.5	67	82.7	85.2	16	19.8	47	58.0	77.8	47	58.0	8	9.9	67.9	60	74.1	0	0.0	74.1	69	85.2	0	0.0	85.2	69	85.2	0	0.0	85.2
2005	65	1	1.5	59	90.8	92.3	10	15.4	35	53.8	69.2	38	58.5	12	18.5	76.9	49	75.4	2	3.1	78.5	52	80.0	1	1.5	81.5	53	81.5	0	0.0	81.5
2006	73	0	0.0	57	78.1	78.1	17	23.3	34	46.6	69.9	42	57.5	10	13.7	71.2	52	71.2	4	5.5	76.7	55	75.3	1	1.4	76.7	56	76.7	0	0.0	76.7
2007	77	0	0.0	66	85.7	85.7	15	19.5	41	53.2	72.7	45	58.4	14	18.2	76.6	58	75.3	3	3.9	79.2	60	77.9	1	1.3	79.2	61	79.2	0	0.0	79.2
2008	69	1	1.4	55	79.7	81.2	35	50.7	21	30.4	81.2	52	75.4	4	5.8	81.2	57	82.6	3	4.3	87.0	60	87.0	1	1.4	88.4	61	88.4	0	0.0	88.4
2009	81	2	2.5	66	81.5	84.0	38	46.9	23	28.4	75.3	57	70.4	7	8.6	79.0	62	76.5	4	4.9	81.5	65	80.2	2	2.5	82.7	67	82.7	1	1.2	84.0
2010	113	3	2.7	94	83.2	85.8	65	57.5	27	23.9	81.4	86	76.1	7	6.2	82.3	91	80.5	4	3.5	84.1	95	84.1	0	0.0	84.1					
2011	119	9	7.6	99	83.2	90.8	69	58.0	29	24.4	82.4	97	81.5	3	2.5	84.0	101	84.9	3	2.5	87.4										
2012	117	10	8.5	97	82.9	91.5	75	64.1	22	18.8	82.9	92	78.6	8	6.8	85.5															
2013	125	13	10.4	93	74.4	84.8	74	59.2	28	22.4	81.6																				
2014	129	12	9.3	95	73.6	82.9			1			1																			
2015	136						1			1			1			1				1		I			1						1

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

College of Visual and Performing Arts

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		4
ohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort F	Retained	TRR		Graduated n 3 yrs	Cohort I	Retained	TRR	Cumulative within	Graduated of 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated o 6 yrs	Cohort	Retained	7
		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		п	% 1F	n	% 1F		n	% 1F	n	% 1F	7
000	12	0	0.0	9	75.0	75.0	1	8.3	6	50.0	58.3	6	50.0	2	16.7	66.7	9	75.0	0	0.0	75.0	9	75.0	1	8.3	83.3	10	83.3	0	0.0	å
001	8	0	0.0	4	50.0	50.0	2	25.0	0	0.0	25.0	4	50.0	0	0.0	50.0	4	50.0	0	0.0	50.0	5	62.5	0	0.0	62.5	5	62.5	1	12.5	
02	8	0	0.0	6	75.0	75.0	1	12.5	2	25.0	37.5	2	25.0	3	37.5	62.5	2	25.0	0	0.0	25.0	5	62.5	0	0.0	62.5	5	62.5	0	0.0	
03	10	0	0.0	9	90.0	90.0	1	10.0	8	80.0	90.0	5	50.0	2	20.0	70.0	6	60.0	3	30.0	90.0	9	90.0	1	10.0	100.0	10	100.0	0	0.0	
04	18	0	0.0	15	83.3	83.3	8	44.4	3	16.7	61.1	9	50.0	4	22.2	72.2	10	55.6	1	5.6	61.1	14	77.8	0	0.0	77.8	14	77.8	0	0.0	
05	14	0	0.0	11	78.6	78.6	5	35.7	4	28.6	64.3	7	50.0	3	21.4	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0.0	
06	21	0	0.0	17	81.0	81.0	9	42.9	9	42.9	85.7	14	66.7	3	14.3	81.0	16	76.2	0	0.0	76.2	16	76.2	0	0.0	76.2	16	76.2	0	0.0	
07	17	0	0.0	14	82.4	82.4	7	41.2	3	17.6	58.8	11	64.7	1	5.9	70.6	13	76.5	0	0.0	76.5	14	82.4	1	5.9	88.2	14	82.4	0	0.0	
08	22	0	0.0	11	50.0	50.0	6	27.3	5	22.7	50.0	10	45.5	2	9.1	54.5	10	45.5	2	9.1	54.5	11	50.0	1	4.5	54.5	11	50.0	2	9.1	
09	28	1	3.6	20	71.4	75.0	12	42.9	8	28.6	71.4	16	57.1	5	17.9	75.0	19	67.9	1	3.6	71.4	22	78.6	1	3.6	82.1	25	89.3	0	0.0	
.0	22	0	0.0	20	90.9	90.9	9	40.9	7	31.8	72.7	14	63.6	3	13.6	77.3	15	68.2	2	9.1	77.3	18	81.8	1	4.5	86.4					Т
11	13	0	0.0	10	76.9	76.9	4	30.8	4	30.8	61.5	9	69.2	2	15.4	84.6	10	76.9	0	0.0	76.9										
12	15	0	0.0	12	80.0	80.0	6	40.0	7	46.7	86.7	10	66.7	2	13.3	80.0															
13	22	0	0.0	17	77.3	77.3	12	54.5	7	31.8	86.4																				
4	12	0	0.0	10	83.3	83.3																									
15	18																														

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

			2nd	Fall				3rd	Fall				4th	Fall				5th I	all				6th I	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	: Retained	TRR**		ve Graduated	Cohort	Retained	TRR		e Graduated in 3 yrs	Cohort F	Retained	TRR	Cumulative within	Graduated n 4 yrs	Cohort I	Retained	TRR	Cumulative withir	Graduated 5 yrs	Cohort F	Retained	TRR		Graduated	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	242	5	2.1	192	79.3	81.4	63	26.0	115	47.5	73.6	123	50.8	48	19.8	70.7	164	67.8	0	0.0	67.8	183	75.6	7	2.9	78.5	191	78.9	2	0.8	79.8
2001	235	9	3.8	182	77.4	81.3	65	27.7	102	43.4	71.1	129	54.9	41	17.4	72.3	161	68.5	0	0.0	68.5	176	74.9	6	2.6	77.4	182	77.4	3	1.3	78.7
2002	271	6	2.2	198	73.1	75.3	63	23.2	134	49.4	72.7	130	48.0	50	18.5	66.4	174	64.2	0	0.0	64.2	191	70.5	5	1.8	72.3	199	73.4	2	0.7	74.2
2003	275	9	3.3	213	77.5	80.7	86	31.3	111	40.4	71.6	147	53.5	49	17.8	71.3	187	68.0	18	6.5	74.5	203	73.8	11	4.0	77.8	212	77.1	3	1.1	78.2
2004	309	11	3.6	242	78.3	81.9	99	32.0	127	41.1	73.1	171	55.3	42	13.6	68.9	209	67.6	11	3.6	71.2	229	74.1	4	1.3	75.4	235	76.1	4	1.3	77.3
2005	287	18	6.3	226	78.7	85.0	86	30.0	122	42.5	72.5	177	61.7	43	15.0	76.7	213	74.2	13	4.5	78.7	229	79.8	3	1.0	80.8	232	80.8	1	0.3	81.2
2006	296	14	4.7	228	77.0	81.8	108	36.5	112	37.8	74.3	175	59.1	47	15.9	75.0	210	70.9	17	5.7	76.7	225	76.0	3	1.0	77.0	230	77.7	1	0.3	78.0
2007	364	22	6.0	288	79.1	85.2	144	39.6	149	40.9	80.5	235	64.6	53	14.6	79.1	284	78.0	18	4.9	83.0	298	81.9	8	2.2	84.1	306	84.1	0	0.0	84.1
2008	333	28	8.4	251	75.4	83.8	150	45.0	103	30.9	76.0	221	66.4	30	9.0	75.4	242	72.7	15	4.5	77.2	257	77.2	6	1.8	79.0	261	78.4	4	1.2	79.6
2009	388	23	5.9	293	75.5	81.4	175	45.1	117	30.2	75.3	256	66.0	39	10.1	76.0	283	72.9	16	4.1	77.1	297	76.5	7	1.8	78.4	307	79.1	3	0.8	79.9
2010	395	16	4.1	317	80.3	84.3	180	45.6	128	32.4	78.0	273	69.1	43	10.9	80.0	311	78.7	10	2.5	81.3	322	81.5	2	0.5	82.0					
2011	400	30	7.5	307	76.8	84.3	186	46.5	127	31.8	78.3	282	70.5	39	9.8	80.3	316	79.0	10	2.5	81.5										
2012	370	30	8.1	288	77.8	85.9	198	53.5	107	28.9	82.4	268	72.4	39	10.5	83.0															
2013	439	37	8.4	323	73.6	82.0	194	44.2	147	33.5	77.7																				
2014	413	35	8.5	320	77.5	86.0																									
2015	499																1								l						

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

Males

	% 1F 1.1 1.9 4.5 1.9 3.0 1.0	72 78 79 82 69 66 87	% 1F 77.4 73.6 70.5 77.4 68.3 65.3	78.5 75.5 75.0 79.2 71.3 66.3	n 20 18 30 37 29	% 1F 21.5 17.0 26.8 34.9 28.7	Cohort n 37 48 41 33 27	% 1F 39.8 45.3 36.6 31.1	61.3 62.3 63.4 66.0		% 1F 38.7 43.4 47.3	n 18 22	% 1F 19.4 20.8	TRR 58.1 64.2		% 1F 51.6	Cohort n 0	Retained % 1F 0.0	TRR 51.6		% 1F 59.1	Cohort I	Retained % 1F 3.2	TRR 62.4		Graduated 6 yrs % 1F 62.4	Cohort n	% 1F	TRR 64.5
n 1 2 5 2 3 1 2	1.1 1.9 4.5 1.9 3.0 1.0	72 78 79 82 69 66	77.4 73.6 70.5 77.4 68.3 65.3	75.5 75.0 79.2 71.3	18 30 37 29	21.5 17.0 26.8 34.9	48 41 33	39.8 45.3 36.6	62.3 63.4	36 46	38.7 43.4	22	19.4		n 48	51.6	n 0		51.6			n 3		62.4	n 58		n 2		64.5
1 2 5 2 3 1 2	1.9 4.5 1.9 3.0 1.0	78 79 82 69 66	73.6 70.5 77.4 68.3 65.3	75.5 75.0 79.2 71.3	18 30 37 29	17.0 26.8 34.9	48 41 33	45.3 36.6	62.3 63.4	46	43.4	22			48		0	0.0	51.6	55	59.1	3	3.2	62.4	58	62.4	2	2.2	64.5
2 5 2 3 1 2	4.5 1.9 3.0 1.0	79 82 69 66	70.5 77.4 68.3 65.3	75.0 79.2 71.3	30 37 29	26.8 34.9	41 33	36.6	63.4				20.8	64.2															
5 2 3 1 2	1.9 3.0 1.0	82 69 66	77.4 68.3 65.3	79.2 71.3	37 29	34.9	33			53	47.3			04.2	56	52.8	0	0.0	52.8	61	57.5	5	4.7	62.3	68	64.2	3	2.8	67.0
2 3 1 2	3.0 1.0	69 66	68.3 65.3	71.3	29			31.1	66.0		47.5	16	14.3	61.6	63	56.3	0	0.0	56.3	71	63.4	1	0.9	64.3	74	66.1	2	1.8	67.9
3 1 2	1.0	66	65.3		-	28.7	27			64	60.4	11	10.4	70.8	76	71.7	4	3.8	75.5	81	76.4	2	1.9	78.3	85	80.2	0	0.0	80.2
1 2				66.3				26.7	55.4	48	47.5	10	9.9	57.4	58	57.4	3	3.0	60.4	65	64.4	0	0.0	64.4	65	64.4	0	0.0	64.4
2	17				25	24.8	41	40.6	65.3	41	40.6	20	19.8	60.4	52	51.5	7	6.9	58.4	57	56.4	2	2.0	58.4	60	59.4	0	0.0	59.4
	2.7		75.0	76.7	47	40.5	33	28.4	69.0	72	62.1	11	9.5	71.6	83	71.6	2	1.7	73.3	87	75.0	0	0.0	75.0	87	75.0	1	0.9	75.9
4	3.1	94	71.8	74.8	45	34.4	44	33.6	67.9	79	60.3	19	14.5	74.8	91	69.5	4	3.1	72.5	94	71.8	4	3.1	74.8	98	74.8	0	0.0	74.8
8	5.6	104	73.2	78.9	62	43.7	41	28.9	72.5	87	61.3	15	10.6	71.8	99	69.7	6	4.2	73.9	101	71.1	2	1.4	72.5	106	74.6	1	0.7	75.4
7	4.3	120	74.5	78.9	62	38.5	50	31.1	69.6	95	59.0	13	8.1	67.1	108	67.1	3	1.9	68.9	114	70.8	2	1.2	72.0	120	74.5	1	0.6	75.2
3					-										ll .		9			111	64.9	3	1.8	66.7					
4															109	69.4	5	3.2	72.6										
11								_		106	65.0	20	12.3	77.3															
8					86	47.3	54	29.7	76.9																				
4	2.0	152	76.4	78.4																									
	3 4 11 8 4	3 1.8 4 2.5 11 6.7 8 4.4 4 2.0	3 1.8 126 4 2.5 119 11 6.7 127 8 4.4 141 4 2.0 152	3 1.8 126 73.7 4 2.5 119 75.8 11 6.7 127 77.9 8 4.4 141 77.5 4 2.0 152 76.4	3 1.8 126 73.7 75.4 4 2.5 119 75.8 78.3 11 6.7 127 77.9 84.7 8 4.4 141 77.5 81.9 4 2.0 152 76.4 78.4	3 1.8 126 73.7 75.4 54 4 2.5 119 75.8 78.3 58 11 6.7 127 77.9 84.7 69 8 4.4 141 77.5 81.9 86 4 2.0 152 76.4 78.4	3 1.8 126 73.7 75.4 54 31.6 4 2.5 119 75.8 78.3 58 36.9 11 6.7 127 77.9 84.7 69 42.3 8 4.4 141 77.5 81.9 86 47.3 4 2.0 152 76.4 78.4 44	3 1.8 126 73.7 75.4 54 31.6 54 4 2.5 119 75.8 78.3 58 36.9 53 11 6.7 127 77.9 84.7 69 42.3 56 8 4.4 141 77.5 81.9 86 47.3 54 4 2.0 152 76.4 78.4 4 78.4	3 1.8 126 73.7 75.4 54 31.6 54 31.6 4 2.5 119 75.8 78.3 58 36.9 53 33.8 11 6.7 127 77.9 84.7 69 42.3 56 34.4 8 4.4 141 77.5 81.9 86 47.3 54 29.7	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 4 2.0 152 76.4 78.4 78.4 78.4 78.4 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 4 2.0 152 76.4 78.4 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 4 2.0 152 76.4 78.4 78.4 78.4 76.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 4 2.0 152 76.4 78.4 78.4 78.4 76.9 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 69.4	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9 69.4 65.0 20 12.3 77.3	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 25.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 67 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 66.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 66.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 66.7 127 75.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 66.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 8 4.4 141 77.5 81.9 86 47.3 54 29.7 76.9	3 1.8 126 73.7 75.4 54 31.6 54 31.6 63.2 88 51.5 17 9.9 61.4 101 59.1 9 5.3 64.3 111 64.9 3 1.8 66.7 4 2.5 119 75.8 78.3 58 36.9 53 33.8 70.7 93 59.2 17 10.8 70.1 109 69.4 5 3.2 72.6 11 6.7 127 77.9 84.7 69 42.3 56 34.4 76.7 106 65.0 20 12.3 77.3 81.9 86 47.3 54 29.7 76.9

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Retention and Graduation Rates for All New Master's Degree-Seeking Graduate Students*--Underrepresented Minorities (URM)

Non-URM

			2nd	Fall				3rd	l Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	t Retained	TRR		Graduated n 5 yrs	Cohort F	Retained	TRR		Graduated	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	311	5	1.6	246	79.1	80.7	71	22.8	147	47.3	70.1	145	46.6	66	21.2	67.8	197	63.3	0	0.0	63.3	223	71.7	9	2.9	74.6	233	74.9	4	1.3	76.2
2001	297	11	3.7	224	75.4	79.1	68	22.9	135	45.5	68.4	149	50.2	58	19.5	69.7	188	63.3	0	0.0	63.3	207	69.7	11	3.7	73.4	219	73.7	5	1.7	75.4
2002	341	10	2.9	244	71.6	74.5	78	22.9	163	47.8	70.7	158	46.3	66	19.4	65.7	209	61.3	0	0.0	61.3	234	68.6	6	1.8	70.4	245	71.8	4	1.2	73.0
2003	346	10	2.9	270	78.0	80.9	110	31.8	132	38.2	69.9	190	54.9	57	16.5	71.4	240	69.4	22	6.4	75.7	259	74.9	13	3.8	78.6	272	78.6	3	0.9	79.5
2004	369	13	3.5	289	78.3	81.8	112	30.4	144	39.0	69.4	196	53.1	49	13.3	66.4	241	65.3	14	3.8	69.1	267	72.4	4	1.1	73.4	273	74.0	3	0.8	74.8
2005	343	17	5.0	256	74.6	79.6	97	28.3	148	43.1	71.4	192	56.0	61	17.8	73.8	234	68.2	20	5.8	74.1	255	74.3	5	1.5	75.8	261	76.1	1	0.3	76.4
2006	354	15	4.2	271	76.6	80.8	132	37.3	127	35.9	73.2	209	59.0	54	15.3	74.3	252	71.2	16	4.5	75.7	269	76.0	2	0.6	76.6	273	77.1	2	0.6	77.7
2007	407	25	6.1	319	78.4	84.5	156	38.3	168	41.3	79.6	261	64.1	59	14.5	78.6	314	77.1	19	4.7	81.8	327	80.3	11	2.7	83.0	337	82.8	0	0.0	82.8
2008	427	32	7.5	317	74.2	81.7	187	43.8	130	30.4	74.2	273	63.9	43	10.1	74.0	303	71.0	20	4.7	75.6	319	74.7	8	1.9	76.6	328	76.8	5	1.2	78.0
2009	472	28	5.9	354	75.0	80.9	205	43.4	141	29.9	73.3	305	64.6	44	9.3	73.9	340	72.0	16	3.4	75.4	358	75.8	,	1.5	77.3	370	78.4	3	0.6	79.0
2010	454	18 31	4.0	355	78.2 77.0	82.2	184	40.5	153	33.7	74.2 77.9	287	63.2 68.0	53	11.7	74.9 78.7	332 354	73.1 77.6	18 12	4.0	77.1 80.3	352	77.5	5	1.1	78.6					
2011 2012	456	33	6.8 7.9	351 331	79.2	83.8 87.1	195 214	42.8 51.2	160 129	35.1 30.9	82.1	310 293	70.1	49 52	10.7 12.4	82.5	354	//.0	12	2.6	80.3										
2012	418	42	9.0	347	74.3	83.3	214	46.5	154	33.0	79.4	293	70.1	52	12.4	82.5															
	449	33	7.3	348	77.5	84.9	217	40.5	134	33.0	73.4																				
2014	516	33	7.3	340	11.3	04.7																									
2015	310																														

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

URM

			2nd	Fall				3rd	Fall				4th	Fall				5th F	all				6th I	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR	Cumulative withir		Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	14	1	7.1	10	71.4	78.6	7	50.0	2	14.3	64.3	7	50.0	0	0.0	50.0	8	57.1	0	0.0	57.1	8	57.1	1	7.1	64.3	9	64.3	0	0.0	64.3
2001	22	0	0.0	18	81.8	81.8	5	22.7	10	45.5	68.2	9	40.9	5	22.7	63.6	12	54.5	0	0.0	54.5	13	59.1	0	0.0	59.1	14	63.6	1	4.5	68.2
2002	31	0	0.0	24	77.4	77.4	8	25.8	12	38.7	64.5	17	54.8	0	0.0	54.8	19	61.3	0	0.0	61.3	19	61.3	0	0.0	61.3	19	61.3	0	0.0	61.3
2003	25	1	4.0	17	68.0	72.0	8	32.0	9	36.0	68.0	13	52.0	3	12.0	64.0	15	60.0	0	0.0	60.0	17	68.0	0	0.0	68.0	17	68.0	0	0.0	68.0
2004	29	1	3.4	14	48.3	51.7	8	27.6	9	31.0	58.6	15	51.7	2	6.9	58.6	17	58.6	0	0.0	58.6	18	62.1	0	0.0	62.1	18	62.1	1	3.4	65.5
2005	29	1	3.4	24	82.8	86.2	8	27.6	10	34.5	62.1	15	51.7	2	6.9	58.6	19	65.5	0	0.0	65.5	19	65.5	0	0.0	65.5	19	65.5	0	0.0	65.5
2006	36	0	0.0	27	75.0	75.0	7	19.4	16	44.4	63.9	20	55.6	4	11.1	66.7	23	63.9	2	5.6	69.4	24	66.7	1	2.8	69.4	25	69.4	0	0.0	69.4
2007	62	1	1.6	45	72.6	74.2	29	46.8	18	29.0	75.8	40	64.5	10	16.1	80.6	45	72.6	3	4.8	77.4	49	79.0	1	1.6	80.6	51	82.3	0	0.0	82.3
2008	41	4	9.8	33	80.5	90.2	21	51.2	13	31.7	82.9	30	73.2	1	2.4	75.6	32	78.0	1	2.4	80.5	33	80.5	0	0.0	80.5	33	80.5	0	0.0	80.5
2009	61	1	1.6	47	77.0	78.7	25	41.0	22	36.1	77.0	35	57.4	7	11.5	68.9	40	65.6	3	4.9	70.5	42	68.9	2	3.3	72.1	46	75.4	1	1.6	77.0
2010	94	1	1.1	74	78.7	79.8	43	45.7	25	26.6	72.3	59	62.8	7	7.4	70.2	65	69.1	1	1.1	70.2	66	70.2	0	0.0	70.2					
2011	88	3	3.4	64	72.7	76.1	43	48.9	17	19.3	68.2	57	64.8	6	6.8	71.6	61	69.3	3	3.4	72.7										
2012	99	7	7.1	70	70.7	77.8	44	44.4	29	29.3	73.7	67	67.7	6	6.1	73.7															
2013	121	3	2.5	86	71.1	73.6	42	34.7	37	30.6	65.3																				
2014	140	6	4.3	106	75.7	80.0																									
2015	141																														

 $* Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

Unknown race and Non-resident Aliens are not included.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

African American

AIIICAII A			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F	Ť	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	13	1	7.7	9	69.2	76.9	7	53.8	1	7.7	61.5	7	53.8	0	0.0	53.8	8	61.5	0	0.0	61.5	8	61.5	0	0.0	61.5	8	61.5	0	0.0	61.5
2001	22	0	0.0	18	81.8	81.8	5	22.7	10	45.5	68.2	9	40.9	5	22.7	63.6	12	54.5	0	0.0	54.5	13	59.1	0	0.0	59.1	14	63.6	1	4.5	68.2
2002	24	0	0.0	19	79.2	79.2	7	29.2	10	41.7	70.8	15	62.5	0	0.0	62.5	16	66.7	0	0.0	66.7	16	66.7	0	0.0	66.7	16	66.7	0	0.0	66.7
2003	20	1	5.0	12	60.0	65.0	6	30.0	7	35.0	65.0	9	45.0	3	15.0	60.0	10	50.0	0	0.0	50.0	12	60.0	0	0.0	60.0	12	60.0	0	0.0	60.0
2004	28	1	3.6	13	46.4	50.0	8	28.6	8	28.6	57.1	14	50.0	2	7.1	57.1	16	57.1	0	0.0	57.1	17	60.7	0	0.0	60.7	17	60.7	1	3.6	64.3
2005	22	1	4.5	18	81.8	86.4	8	36.4	8	36.4	72.7	13	59.1	1	4.5	63.6	15	68.2	0	0.0	68.2	15	68.2	0	0.0	68.2	15	68.2	0	0.0	68.2
2006	29	0	0.0	22	75.9	75.9	6	20.7	11	37.9	58.6	16	55.2	2	6.9	62.1	17	58.6	2	6.9	65.5	18	62.1	1	3.4	65.5	19	65.5	0	0.0	65.5
2007	51	1	2.0	37	72.5	74.5	24	47.1	15	29.4	76.5	33	64.7	9	17.6	82.4	37	72.5	3	5.9	78.4	40	78.4	1	2.0	80.4	42	82.4	0	0.0	82.4
2008	33	4	12.1	25	75.8	87.9	16	48.5	10	30.3	78.8	23	69.7	1	3.0	72.7	25	75.8	1	3.0	78.8	26	78.8	0	0.0	78.8	26	78.8	0	0.0	78.8
2009	48	1	2.1	34	70.8	72.9	19	39.6	16	33.3	72.9	27	56.3	4	8.3	64.6	30	62.5	3	6.3	68.8	31	64.6	2	4.2	68.8	33	68.8	1	2.1	70.8
2010	71	1	1.4	54	76.1	77.5	35	49.3	17	23.9	73.2	47	66.2	4	5.6	71.8	50	70.4	1	1.4	71.8	51	71.8	0	0.0	71.8					
2011	68	3	4.4	50	73.5	77.9	34	50.0	13	19.1	69.1	44	64.7	4	5.9	70.6	48	70.6	1	1.5	72.1										
2012	83 87	_ ′	8.4	59	71.1	79.5	36	43.4 29.9	26	31.3	74.7	57	68.7	5	6.0	74.7															
2013	104	2	2.3	60	69.0 77.9	71.3	26	29.9	31	35.6	65.5																				
2014	07	3	2.9	81	77.9	80.8																									
2015	97		1																												
1 year ch	ange in rate		0.6		8.9	9.5		-13.5		4.3	-9.2		4.0		0.1	4.1		0.2		0.1	0.2	2	7.2		-4.2	3.1	ı	-10.0		2.1	-8.0

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Cumulative Graduated Cohort Retained				Fall				5th F					6th Fa	111				7th	-all		
within 2 yrs**	TRR	Cumulative within		Cohort R	etained	TRR	Cumulative within		Cohort R	etained	TRR	Cumulative within	Graduated 5 yrs	Cohort R	tetained	TRR	Cumulative within	e Graduated n 6 yrs	Cohort R	etained	TRR
n % 1F n % 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	İ
0 0.0 0 0.0	0.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
0 0.0 1 100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
1 33.3 2 66.7	100.0	2	66.7	0	0.0	66.7	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0
0 0.0 0 0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0					
1 33.3 0 0.0	33.3																				

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

Asian (Prior to 2010 includes Pacific Islanders)

			2nd	Fall		1		3rd	Fall				4th	Fall				5th	Fall				6th F	all				7th	Fall		4
hort	N 1st Fall		Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort F	tetained	TRR		e Graduated n 6 yrs	Cohort	Retained	
		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	4
000	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	1
01	8	0	0.0	7	87.5	87.5	3	37.5	3	37.5	75.0	5	62.5	1	12.5	75.0	5	62.5	0	0.0	62.5	6	75.0	0	0.0	75.0	6	75.0	0	0.0	
)2	11	1	9.1	8	72.7	81.8	3	27.3	4	36.4	63.6	4	36.4	3	27.3	63.6	6	54.5	0	0.0	54.5	7	63.6	0	0.0	63.6	8	72.7	0	0.0	
3	10	0	0.0	7	70.0	70.0	5	50.0	3	30.0	80.0	7	70.0	1	10.0	80.0	8	80.0	0	0.0	80.0	8	80.0	1	10.0	90.0	9	90.0	0	0.0	
14	13	1	7.7	8	61.5	69.2	5	38.5	4	30.8	69.2	6	46.2	3	23.1	69.2	8	61.5	0	0.0	61.5	8	61.5	1	7.7	69.2	9	69.2	0	0.0	
5	9	1	11.1	7	77.8	88.9	4	44.4	5	55.6	100.0	6	66.7	3	33.3	100.0	9	100.0	0	0.0	100.0	9	100.0	0	0.0	100.0	9	100.0	0	0.0	
6	9	0	0.0	8	88.9	88.9	4	44.4	3	33.3	77.8	6	66.7	2	22.2	88.9	7	77.8	0	0.0	77.8	8	88.9	0	0.0	88.9	8	88.9	0	0.0	
7	9	1	11.1	5	55.6	66.7	4	44.4	2	22.2	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7	6	66.7	1	11.1	77.8	6	66.7	0	0.0	
В	15	1	6.7	9	60.0	66.7	8	53.3	0	0.0	53.3	10	66.7	0	0.0	66.7	10	66.7	0	0.0	66.7	10	66.7	0	0.0	66.7	10	66.7	0	0.0	
9	24	1	4.2	20	83.3	87.5	9	37.5	7	29.2	66.7	14	58.3	1	4.2	62.5	16	66.7	1	4.2	70.8	17	70.8	0	0.0	70.8	18	75.0	1	4.2	
)	8	0	0.0	5	62.5	62.5	3	37.5	2	25.0	62.5	3	37.5	0	0.0	37.5	3	37.5	0	0.0	37.5	4	50.0	0	0.0	50.0					Т
1	20	0	0.0	16	80.0	80.0	8	40.0	5	25.0	65.0	13	65.0	0	0.0	65.0	14	70.0	1	5.0	75.0										
.2	10	0	0.0	8	80.0	80.0	4	40.0	3	30.0	70.0	7	70.0	1	10.0	80.0															
3	9	1	11.1	6	66.7	77.8	3	33.3	1	11.1	44.4												1								
ı	15	0	0.0	10	66.7	66.7																									
5	12																														

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

 $^{**} TRR - Total\ retention\ rate = percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

Latino

			2nd	Fall				3rd	l Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort F	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort F	Retained	TRR
		n	% 1F	n	% 1F	Ť	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1
2000	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0
2001	0	-																													
2002	7	0	0.0	5	71.4	71.4	1	14.3	2	28.6	42.9	2	28.6	0	0.0	28.6	3	42.9	0	0.0	42.9	3	42.9	0	0.0	42.9	3	42.9	0	0.0	42.9
2003	5	0	0.0	5	100.0	100.0	2	40.0	2	40.0	80.0	4	80.0	0	0.0	80.0	5	100.0	0	0.0	100.0	5	100.0	0	0.0	100.0	5	100.0	0	0.0	100.0
2004	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2005	7	0	0.0	6	85.7	85.7	0	0.0	2	28.6	28.6	2	28.6	1	14.3	42.9	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1
2006	7	0	0.0	5	71.4	71.4	1	14.3	5	71.4	85.7	4	57.1	2	28.6	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7
2007	11	0	0.0	8	72.7	72.7	5	45.5	3	27.3	72.7	7	63.6	1	9.1	72.7	8	72.7	0	0.0	72.7	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.8
2008	7	0	0.0	7	100.0	100.0	5	71.4	2	28.6	100.0	7	100.0	0	0.0	100.0	7	100.0	0	0.0	100.0	7	100.0	0	0.0	100.0	7	100.0	0	0.0	100.0
2009	10	0	0.0	10	100.0	100.0	5	50.0	4	40.0	90.0	6	60.0	3	30.0	90.0	7	70.0	0	0.0	70.0	8	80.0	0	0.0	80.0	10	100.0	0	0.0	100.0
2010	21	0	0.0	19	90.5	90.5	8	38.1	8	38.1	76.2	12	57.1	3	14.3	71.4	15	71.4	0	0.0	71.4	15	71.4	0	0.0	71.4					
2011	10	0	0.0	6	60.0	60.0	4	40.0	1	10.0	50.0	6	60.0	1	10.0	70.0	6	60.0	1	10.0	70.0										
2012	11	0	0.0	7	63.6	63.6	4	36.4	2	18.2	54.5	5	45.5	1	9.1	54.5															
2013	22	1	4.5	17	77.3	81.8	10	45.5	4	18.2	63.6																				
2014	23	3	13.0	16	69.6	82.6																									
2015	31																					<u> </u>									
1 year ch	ange in rate		8.5		-7.7	0.8		9.1		0.0	9.1		-14.5		-0.9	-15.5		-11.4		10.0	-1.4		-8.6		0.0	-8.6	5	0.0		0.0	0.0

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	all		4
ohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated n 3 yrs	Cohort I	Retained	TRR		Graduated 1 4 yrs	Cohort	Retained	TRR		Graduated 5 yrs	Cohort F	Retained	TRR	Cumulative within		Cohort I	Retained	7
		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
000	309	5	1.6	245	79.3	80.9	71	23.0	146	47.2	70.2	144	46.6	65	21.0	67.6	195	63.1	0	0.0	63.1	221	71.5	9	2.9	74.4	231	74.8	4	1.3	7
01	289	11	3.8	217	75.1	78.9	65	22.5	132	45.7	68.2	144	49.8	57	19.7	69.6	183	63.3	0	0.0	63.3	201	69.6	11	3.8	73.4	213	73.7	5	1.7	
2	330	9	2.7	236	71.5	74.2	75	22.7	159	48.2	70.9	154	46.7	63	19.1	65.8	203	61.5	0	0.0	61.5	227	68.8	6	1.8	70.6	237	71.8	4	1.2	
3	335	10	3.0	262	78.2	81.2	105	31.3	128	38.2	69.6	183	54.6	55	16.4	71.0	232	69.3	21	6.3	75.5	251	74.9	12	3.6	78.5	262	78.2	3	0.9	
4	355	12	3.4	281	79.2	82.5	107	30.1	140	39.4	69.6	190	53.5	45	12.7	66.2	232	65.4	14	3.9	69.3	258	72.7	3	0.8	73.5	263	74.1	3	0.8	
5	334	16	4.8	249	74.6	79.3	93	27.8	143	42.8	70.7	186	55.7	58	17.4	73.1	225	67.4	20	6.0	73.4	246	73.7	5	1.5	75.1	252	75.4	1	0.3	
6	345	15	4.3	263	76.2	80.6	128	37.1	124	35.9	73.0	203	58.8	52	15.1	73.9	245	71.0	16	4.6	75.7	261	75.7	2	0.6	76.2	265	76.8	2	0.6	
7	397	24	6.0	313	78.8	84.9	152	38.3	165	41.6	79.8	254	64.0	59	14.9	78.8	307	77.3	19	4.8	82.1	320	80.6	10	2.5	83.1	330	83.1	0	0.0	
3	412	31	7.5	308	74.8	82.3	179	43.4	130	31.6	75.0	263	63.8	43	10.4	74.3	293	71.1	20	4.9	76.0	309	75.0	8	1.9	76.9	318	77.2	5	1.2	
9	448	27	6.0	334	74.6	80.6	196	43.8	134	29.9	73.7	291	65.0	43	9.6	74.6	324	72.3	15	3.3	75.7	341	76.1	7	1.6	77.7	352	78.6	2	0.4	
)	446	18	4.0	350	78.5	82.5	181	40.6	151	33.9	74.4	284	63.7	53	11.9	75.6	329	73.8	18	4.0	77.8	348	78.0	5	1.1	79.1					Т
1	434	31	7.1	334	77.0	84.1	187	43.1	154	35.5	78.6	296	68.2	49	11.3	79.5	339	78.1	11	2.5	80.6										
2	408	33	8.1	323	79.2	87.3	210	51.5	126	30.9	82.4	286	70.1	51	12.5	82.6						1									
3	455	41	9.0	338	74.3	83.3	212	46.6	152	33.4	80.0																				ı
ı	434	33	7.6	338	77.9	85.5						1																			
5	501							l												l											1

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

			2nd	Fall		1		3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		4
ohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR	Cumulative withi	e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	1
		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	4
000	10	0	0.0	8	80.0	80.0	5	50.0	3	30.0	80.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	
01	22	0	0.0	18	81.8	81.8	10	45.5	5	22.7	68.2	17	77.3	0	0.0	77.3	17	77.3	0	0.0	77.3	17	77.3	0	0.0	77.3	17	77.3	0	0.0	
02	11	1	9.1	9	81.8	90.9	7	63.6	0	0.0	63.6	8	72.7	0	0.0	72.7	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.8	9	81.8	0	0.0	
3	10	0	0.0	8	80.0	80.0	5	50.0	3	30.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	
4	12	0	0.0	8	66.7	66.7	8	66.7	1	8.3	75.0	8	66.7	1	8.3	75.0	9	75.0	0	0.0	75.0	9	75.0	0	0.0	75.0	9	75.0	0	0.0	
5	16	1	6.3	12	75.0	81.3	6	37.5	5	31.3	68.8	11	68.8	0	0.0	68.8	12	75.0	0	0.0	75.0	12	75.0	0	0.0	75.0	12	75.0	0	0.0	
6	22	1	4.5	17	77.3	81.8	16	72.7	2	9.1	81.8	18	81.8	0	0.0	81.8	18	81.8	1	4.5	86.4	19	86.4	0	0.0	86.4	19	86.4	0	0.0	
7	26	0	0.0	18	69.2	69.2	4	15.4	7	26.9	42.3	13	50.0	3	11.5	61.5	16	61.5	0	0.0	61.5	16	61.5	0	0.0	61.5	16	61.5	0	0.0	
8	5	0	0.0	3	60.0	60.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	
9	16	1	6.3	12	75.0	81.3	7	43.8	4	25.0	68.8	11	68.8	1	6.3	75.0	11	68.8	0	0.0	68.8	11	68.8	0	0.0	68.8	11	68.8	0	0.0	
0	17	0	0.0	14	82.4	82.4	6	35.3	4	23.5	58.8	14	82.4	0	0.0	82.4	14	82.4	0	0.0	82.4	14	82.4	0	0.0	82.4					Т
1	11	0	0.0	9	81.8	81.8	6	54.5	1	9.1	63.6	7	63.6	0	0.0	63.6	8	72.7	0	0.0	72.7										
2	15	1	6.7	14	93.3	100.0	9	60.0	4	26.7	86.7	14	93.3	1	6.7	100.0															
3	32	0	0.0	31	96.9	96.9	21	65.6	9	28.1	93.8																				
1	23	0	0.0	18	78.3	78.3																									
5	26						1																								ı

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

 $^{**} TRR-Total\ retention\ rate = percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

Pacific Islander

I acilic isi	ao.																														
			2nd	i Fall				3rd Fall 4th Fall 5th Fall			7th F	all																			
Cohort	N 1st Fall		ive Graduated thin 1 yr	Cohor	t Retained	TRR**		Cumulative Graduated within 2 yrs** Cohort Retained within 3 yrs Cohort Retained within 3 yrs Cohort Retained within 3 yrs Cohort Retained within 4 yrs Cohort Retained within 5 yrs Cohort Retained within 5 yrs Cohort Retained within 5 yrs Cohort Retained within 6			Cohort Re	tained	TRR																		
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		п	% 1F	n	% 1F		n	% 1F	n	% 1F	1	n	% 1F	n	% 1F	
2000-2009	eported un	der "Asiar						•										•													
2011	1	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0										
2012	0	-																													
2013	0	-																													
2014	0	-																													
2015	0	-																													
1 year ch	ange in rate	:	0.0		0.0	0.0)	0.0		0.0	0.0)	-100.0		0.0	-100.0)	100.0		0.0	100.0)									

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Multi-racial

			2nd	Fall				3rd	l Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort F	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort R	etained	TRR
		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	į .
2000	0	-																											$\overline{}$		
2001	0	-																													
2002	0	-																											, 1		
2003	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0
2004	0	-																											, 1		
2005	0	-																													
2006	0	-																											, 1		
2007	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2008	0	-																											, !		
2009	0	-																											, 1		
2010	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0			, 1		
2011	11	0	0.0	8	72.7	72.7	4	36.4	4	36.4	72.7	7	63.6	1	9.1	72.7	7	63.6	1	9.1	72.7								, 1		
2012	5	0	0.0	4	80.0	80.0	4	80.0	1	20.0	100.0	5	100.0	0	0.0	100.0															
2013	12	0	0.0	11	91.7	91.7	7	58.3	3	25.0	83.3																				
2014	11	0	0.0	8	72.7	72.7																									
2015	16																														
																															0.0
1 year ch	ange in rate	:	0.0		-18.9	-18.9		-21.7		5.0	-16.7		36.4		-9.1	27.3		63.6		9.1	72.7	,	0.0		0.0	0.0)	0.0			0.0

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Unknown																															
			2nd	Fall				3rd	Fall				4th	Fall				5th f	Fall				6th	Fall				7th	r Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort I	Retained	TRR**	Cumulative within	Graduated 2 yrs**	Cohort	Retained	TRR		Graduated 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated n 5 yrs	Cohort	Retained	TRR		e Graduated n 6 yrs	Cohort F	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		п	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	0	-																													
2001	0	-																											1	1	
2002	0	-																											1	1	
2003	0	-																											1	1	
2004	0	-																													
2005	0	-																											1	1	
2006	0	-																											1	1	
2007	0	-																											1	1	
2008	2	0	0.0	2	100.0	100.0	0	0.0	1	50.0	50.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0
2009	0	-																													4
2010	1	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0			1	1	
2011	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0								1	1	
2012	1	0	0.0	0	0.0	0.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0													1 '	l	
2013	1	0	0.0	0	0.0	0.0	0	0.0	1	100.0	100.0											1									
2014	0	-																				1									
2015	3																													<u> </u>	
1 year ci	nange in rate		0.0		0.0	0.0	,	0.0		0.0	0.0		-50.0		-50.0	-100.0		0.0		0.0	0.0		100.0		0.0	100.0)	-100.0		0.0	-100.0

College of Arts and Sciences

Dielem

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	all		4
Cohort	N 1st Fall		re Graduated nin 1 yr	Cohort	Retained	TRR**		re Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort F	Retained	TRR		e Graduated n 5 yrs	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	5	0	0.0	4	80.0	80.0	0	0.0	2	40.0	40.0	0	0.0	1	20.0	20.0	1	20.0	0	0.0	20.0	2	40.0	1	20.0	60.0	2	40.0	0	0.0	40.0
2001	5	0	0.0	4	80.0	80.0	1	20.0	1	20.0	40.0	2	40.0	2	40.0	80.0	2	40.0	0	0.0	40.0	2	40.0	2	40.0	80.0	4	80.0	0	0.0	80.0
2002	9	0	0.0	7	77.8	77.8	0	0.0	4	44.4	44.4	0	0.0	2	22.2	22.2	2	22.2	0	0.0	22.2	3	33.3	0	0.0	33.3	4	44.4	1	11.1	55.6
2003	6	0	0.0	3	50.0	50.0	0	0.0	2	33.3	33.3	0	0.0	2	33.3	33.3	0	0.0	1	16.7	16.7	0	0.0	0	0.0	0.0	1	16.7	1	16.7	33.3
2004	7	0	0.0	4	57.1	57.1	1	14.3	2	28.6	42.9	3	42.9	1	14.3	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1
2005	7	0	0.0	5	71.4	71.4	0	0.0	5	71.4	71.4	2	28.6	2	28.6	57.1	3	42.9	1	14.3	57.1	4	57.1	0	0.0	57.1	5	71.4	0	0.0	71.4
2006	3	0	0.0	3	100.0	100.0	1	33.3	2	66.7	100.0	1	33.3	1	33.3	66.7	2	66.7	0	0.0	66.7	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0
2007	11	0	0.0	8	72.7	72.7	1	9.1	4	36.4	45.5	3	27.3	3	27.3	54.5	4	36.4	1	9.1	45.5	5	45.5	0	0.0	45.5	6	54.5	0	0.0	54.5
2008	4	0	0.0	3	75.0	75.0	0	0.0	3	75.0	75.0	0	0.0	2	50.0	50.0	0	0.0	1	25.0	25.0	1	25.0	0	0.0	25.0	2	50.0	0	0.0	50.0
2009	10	0	0.0	8	80.0	80.0	0	0.0	3	30.0	30.0	4	40.0	0	0.0	40.0	5	50.0	0	0.0	50.0	5	50.0	0	0.0	50.0	7	70.0	0	0.0	70.0
2010	11	0	0.0	9	81.8	81.8	1	9.1	5	45.5	54.5	5	45.5	2	18.2	63.6	6	54.5	1	9.1	63.6	7	63.6	0	0.0	63.6					
2011	6	0	0.0	4	66.7	66.7	2	33.3	2	33.3	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7										
2012	5	0	0.0	2	40.0	40.0	1	20.0	1	20.0	40.0	1	20.0	1	20.0	40.0															
2013	14	0	0.0	11	78.6	78.6	2	14.3	7	50.0	64.3																				
2014	3	0	0.0	2	66.7	66.7																									
2015	10			1			1																								

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

Chemistry

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th F	all				7th	Fall		
Cohort	N 1st Fall	Cumulative within	Graduated n 1 yr	Cohort	Retained	TRR**	Cumulative within	Graduated 2 yrs**	Cohort F	Retained	TRR	Cumulative withir	Graduated 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort F	Retained	TRR	Cumulative withir	Graduated 5 yrs	Cohort R	Retained	TRR	Cumulative within	Graduated of 6 yrs	Cohort F	tetained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	İ	n	% 1F	n	% 1F	
2000	2	0	0.0	2	100.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	2	100.0	0	0	100.0
2001	6	0	0.0	3	50.0	50.0	0	0.0	1	16.7	16.7	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2002	4	0	0.0	1	25.0	25.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2003	3	0	0.0	1	33.3	33.3	1	33.3	2	66.7	100.0	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0	66.7

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

Communications Studies

			2nd	Fall				3rd	Fall				4th	all				5th F	all				6th	Fall				7th F	all		4
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		re Graduated o 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort F	Retained	TRR		Graduated A yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	2	0	0.0	2	100.0	100.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0	100.
2001	8	1	12.5	6	75.0	87.5	4	50.0	2	25.0	75.0	4	50.0	2	25.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0	75.0
002	2	0	0.0	2	100.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0	100
1003	9	2	22.2	5	55.6	77.8	6	66.7	1	11.1	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0	77.
004	3	0	0.0	2	66.7	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0	66.
005	3	0	0.0	2	66.7	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0	66
2006	5	0	0.0	5	100.0	100.0	4	80.0	1	20.0	100.0	4	80.0	1	20.0	100.0	5	100.0	0	0.0	100.0	5	100.0	0	0.0	100.0	5	100.0	0	0	100
007	8	0	0.0	6	75.0	75.0	4	50.0	2	25.0	75.0	6	75.0	1	12.5	87.5	7	87.5	0	0.0	87.5	7	87.5	0	0.0	87.5	7	87.5	0	0	87
2008	10	0	0.0	7	70.0	70.0	5	50.0	3	30.0	80.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	70.0	7	70.0	1	10.0	80.0	7	70.0	0	0	70.
1009	17	1	5.9	14	82.4	88.2	14	82.4	1	5.9	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0	88.
2010	13	0	0.0	9	69.2	69.2	3	23.1	5	38.5	61.5	7	53.8	1	7.7	61.5	9	69.2	0	0.0	69.2	9	69.2	0	0.0	69.2					
2011	6	0	0.0	3	50.0	50.0	1	16.7	2	33.3	50.0	1	16.7	0	0.0	16.7	2	33.3	1	16.7	50.0										
2012	6	0	0.0	4	66.7	66.7	2	33.3	1	16.7	50.0	3	50.0	0	0.0	50.0															
2013	7	2	28.6	5	71.4	100.0	4	57.1	0	0.0	57.1																				
2014	5	0	0.0	5	100.0	100.0																									
2015	16															l						I									

 $^{{\}it *Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.}$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Computer Science

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort F	tetained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	3	0	0.0	2	66.7	66.7	0	0.0	1	33.3	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0	33.3
2001	14	0	0.0	12	85.7	85.7	5	35.7	5	35.7	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0	71.4
2002	5	1	20.0	3	60.0	80.0	2	40.0	1	20.0	60.0	3	60.0	1	20.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0	80.0
2003	6	0	0.0	6	100.0	100.0	4	66.7	2	33.3	100.0	5	83.3	1	16.7	100.0	5	83.3	1	16.7	100.0	5	83.3	1	16.7	100.0	5	83.3	0	0	83.3
2004	6	0	0.0	6	100.0	100.0	6	100.0	0	0.0	100.0	6	100.0	0	0.0	100.0	6	100.0	0	0.0	100.0	6	100.0	0	0.0	100.0	6	100.0	0	0	100.0
2005	3	1	33.3	1	33.3	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0	66.7
2006	7	0	0.0	7	100.0	100.0	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	85.7
2007	7	0	0.0	4	57.1	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0	57.1
2008	6	1	16.7	3	50.0	66.7	4	66.7	0	0.0	66.7	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83.3	5	83.3	0	0	83.3
2009	9	0	0.0	6	66.7	66.7	4	44.4	1	11.1	55.6	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0	66.7
2010	6	0	0.0	3	50.0	50.0	2	33.3	0	0.0	33.3	2	33.3	0	0.0	33.3	2	33.3	0	0.0	33.3	2	33.3	0	0.0	33.3					
2011	6	0	0.0	4	66.7	66.7	2	33.3	2	33.3	66.7	3	50.0	1	16.7	66.7	4	66.7	0	0.0	66.7										
2012	2	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0															
2013	4	0	0.0	4	100.0	100.0	4	100.0	0	0.0	100.0																				
2014	5	0	0.0	5	100.0	100.0	ĺ																								
2015	9																														
1 year ch	ange in rate		0.0		0.0	0.0		100.0		-50.0	50.0)	0.0	•	-16.7	-16.7	,	33.3		0.0	33.3		-33.3	•	0.0) -33.3	3	-16.7		0.0) -16.7

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

English

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th I	all		4
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		re Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		e Graduated n 5 yrs	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	23	1	4.3	16	69.6	73.9	9	39.1	7	30.4	69.6	13	56.5	5	21.7	78.3	15	65.2	0	0.0	65.2	16	69.6	1	4.3	73.9	16	69.6	2	8.7	78
2001	23	0	0.0	15	65.2	65.2	7	30.4	9	39.1	69.6	11	47.8	5	21.7	69.6	14	60.9	0	0.0	60.9	15	65.2	0	0.0	65.2	15	65.2	0	0.0	65.
2002	26	1	3.8	20	76.9	80.8	10	38.5	8	30.8	69.2	14	53.8	2	7.7	61.5	15	57.7	0	0.0	57.7	17	65.4	0	0.0	65.4	18	69.2	0	0.0	69.
2003	33	0	0.0	26	78.8	78.8	8	24.2	10	30.3	54.5	15	45.5	6	18.2	63.6	20	60.6	2	6.1	66.7	21	63.6	2	6.1	69.7	23	69.7	1	3.0	72.
2004	37	1	2.7	29	78.4	81.1	13	35.1	8	21.6	56.8	23	62.2	4	10.8	73.0	26	70.3	3	8.1	78.4	28	75.7	1	2.7	78.4	28	75.7	0	0.0	75.
2005	21	1	4.8	15	71.4	76.2	11	52.4	4	19.0	71.4	14	66.7	0	0.0	66.7	15	71.4	0	0.0	71.4	15	71.4	0	0.0	71.4	15	71.4	0	0.0	71.
2006	29	4	13.8	19	65.5	79.3	19	65.5	4	13.8	79.3	22	75.9	1	3.4	79.3	23	79.3	0	0.0	79.3	23	79.3	0	0.0	79.3	23	79.3	0	0.0	79.
2007	26	2	7.7	20	76.9	84.6	10	38.5	12	46.2	84.6	22	84.6	0	0.0	84.6	22	84.6	1	3.8	88.5	23	88.5	0	0.0	88.5	23	88.5	0	0.0	88.
2008	18	0	0.0	15	83.3	83.3	4	22.2	10	55.6	77.8	10	55.6	6	33.3	88.9	13	72.2	2	11.1	83.3	15	83.3	0	0.0	83.3	16	88.9	1	5.6	94.
2009	30	1	3.3	24	80.0	83.3	8	26.7	14	46.7	73.3	16	53.3	3	10.0	63.3	19	63.3	2	6.7	70.0	21	70.0	0	0.0	70.0	21	70.0	1	3.3	73
2010	36	0	0.0	31	86.1	86.1	15	41.7	11	30.6	72.2	23	63.9	4	11.1	75.0	25	69.4	2	5.6	75.0	27	75.0	1	2.8	77.8					
2011	25	1	4.0	20	80.0	84.0	9	36.0	12	48.0	84.0	20	80.0	1	4.0	84.0	21	84.0	0	0.0	84.0										
2012	22	1	4.5	15	68.2	72.7	13	59.1	3	13.6	72.7	17	77.3	1	4.5	81.8															
2013	22	0	0.0	16	72.7	72.7	10	45.5	5	22.7	68.2																				
2014	18	0	0.0	13	72.2	72.2			1																						
2015	17						1																								

^{*}Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Geology and Astronomy

									Fall				4th	I dii				5th I	all				6th	1 011				7th	i ali		4 /
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort F	Retained	TRR		Graduated	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort F	Retained	TRR		Graduated 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	4	0	0.0	3	75.0	75.0	1	25.0	1	25.0	50.0	1	25.0	0	0.0	25.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2001	5	0	0.0	3	60.0	60.0	0	0.0	1	20.0	20.0	1	20.0	1	20.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	3	60.0	0	0.0	60.0
2002	4	0	0.0	2	50.0	50.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	1	25.0	25.0
2003	4	0	0.0	2	50.0	50.0	1	25.0	2	50.0	75.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0
2004	3	0	0.0	3	100.0	100.0	0	0.0	2	66.7	66.7	0	0.0	0	0.0	0.0	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3
2005	3	0	0.0	0	0.0	0.0	0	0.0	2	66.7	66.7	0	0.0	2	66.7	66.7	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	0	0.0	0.0
2006	0	-																													
2007	2	0	0.0	1	50.0	50.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0
2008	6	0	0.0	5	83.3	83.3	1	16.7	2	33.3	50.0	2	33.3	1	16.7	50.0	2	33.3	1	16.7	50.0	3	50.0	0	0.0	50.0	4	66.7	0	0.0	66.7
2009	9	1	11.1	5	55.6	66.7	2	22.2	1	11.1	33.3	2	22.2	0	0.0	22.2	2	22.2	1	11.1	33.3	4	44.4	0	0.0	44.4	4	44.4	1	11.1	55.6
2010	10	0	0.0	6	60.0	60.0	3	30.0	3	30.0	60.0	5	50.0	1	10.0	60.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	70.0					
2011	5	0	0.0	4	80.0	80.0	2	40.0	2	40.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0										
2012	4	0	0.0	3	75.0	75.0	2	50.0	2	50.0	100.0	2	50.0	1	25.0	75.0															
2013	11	0	0.0	9	81.8	81.8	5	45.5	2	18.2	63.6																				
2014	7	0	0.0	7	100.0	100.0																									
2015	6																														

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

History

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th I	Fall		4
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		re Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		e Graduated n 5 yrs	Cohort	Retained	TRR		Graduated	Cohort I	Retained	TRI
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	4
2000	15	0	0.0	11	73.3	73.3	1	6.7	7	46.7	53.3	3	20.0	6	40.0	60.0	7	46.7	0	0.0	46.7	8	53.3	0	0.0	53.3	8	53.3	0	0.0	53.
2001	11	3	27.3	5	45.5	72.7	5	45.5	3	27.3	72.7	5	45.5	2	18.2	63.6	6	54.5	0	0.0	54.5	6	54.5	0	0.0	54.5	6	54.5	1	9.1	63.
2002	11	0	0.0	4	36.4	36.4	0	0.0	5	45.5	45.5	1	9.1	2	18.2	27.3	5	45.5	0	0.0	45.5	5	45.5	0	0.0	45.5	5	45.5	0	0.0	45.
2003	13	0	0.0	10	76.9	76.9	1	7.7	8	61.5	69.2	4	30.8	2	15.4	46.2	7	53.8	0	0.0	53.8	9	69.2	0	0.0	69.2	10	76.9	0	0.0	76.
2004	16	0	0.0	8	50.0	50.0	2	12.5	5	31.3	43.8	3	18.8	1	6.3	25.0	5	31.3	1	6.3	37.5	6	37.5	0	0.0	37.5	6	37.5	1	6.3	43.8
2005	11	0	0.0	10	90.9	90.9	4	36.4	4	36.4	72.7	6	54.5	1	9.1	63.6	8	72.7	0	0.0	72.7	9	81.8	0	0.0	81.8	9	81.8	0	0.0	81.
2006	14	0	0.0	10	71.4	71.4	3	21.4	4	28.6	50.0	6	42.9	0	0.0	42.9	7	50.0	0	0.0	50.0	7	50.0	0	0.0	50.0	7	50.0	0	0.0	50.
2007	14	0	0.0	9	64.3	64.3	3	21.4	6	42.9	64.3	5	35.7	3	21.4	57.1	6	42.9	2	14.3	57.1	7	50.0	1	7.1	57.1	8	57.1	0	0.0	57
2008	19	0	0.0	13	68.4	68.4	8	42.1	3	15.8	57.9	11	57.9	2	10.5	68.4	11	57.9	0	0.0	57.9	12	63.2	0	0.0	63.2	12	63.2	0	0.0	63
2009	18	0	0.0	10	55.6	55.6	4	22.2	4	22.2	44.4	6	33.3	2	11.1	44.4	7	38.9	1	5.6	44.4	8	44.4	1	5.6	50.0	9	50.0	0	0.0	50.0
2010	12	0	0.0	7	58.3	58.3	1	8.3	5	41.7	50.0	1	8.3	2	16.7	25.0	3	25.0	2	16.7	41.7	6	50.0	1	8.3	58.3	6	50.0	0	0.0	50.
2011	19	0	0.0	13	68.4	68.4	1	5.3	10	52.6	57.9	8	42.1	1	5.3	47.4	11	57.9	1	5.3	63.2										
2012	16	0	0.0	9	56.3	56.3	4	25.0	3	18.8	43.8	7	43.8	2	12.5	56.3															
2013	10	0	0.0	6	60.0	60.0	1	10.0	4	40.0	50.0																				
2014	13	0	0.0	10	76.9	76.9																									
2015	7						1																								

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Languages and Cultures

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated in 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	ĺ	n	% 1F	n	% 1F	1
2000	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0
2001	5	0	0.0	5	100.0	100.0	2	40.0	3	60.0	100.0	2	40.0	1	20.0	60.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0
2002	6	0	0.0	3	50.0	50.0	0	0.0	2	33.3	33.3	0	0.0	0	0.0	0.0	1	16.7	0	0.0	16.7	2	33.3	0	0.0	33.3	2	33.3	1	16.7	50.0
2003	5	0	0.0	4	80.0	80.0	0	0.0	4	80.0	80.0	3	60.0	0	0.0	60.0	3	60.0	1	20.0	80.0	3	60.0	1	20.0	80.0	3	60.0	0	0.0	60.0
2004	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0
2005	0	-																												1	
2006	5	0	0.0	4	80.0	80.0	0	0.0	1	20.0	20.0	1	20.0	1	20.0	40.0	2	40.0	1	20.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0
2007	6	0	0.0	2	33.3	33.3	1	16.7	2	33.3	50.0	1	16.7	2	33.3	50.0	4	66.7	0	0.0	66.7	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83.3
2008	7	1	14.3	5	71.4	85.7	2	28.6	2	28.6	57.1	3	42.9	2	28.6	71.4	4	57.1	1	14.3	71.4	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1
2009	5	0	0.0	3	60.0	60.0	2	40.0	1	20.0	60.0	3	60.0	1	20.0	80.0	3	60.0	1	20.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0
2010	7	1	14.3	3	42.9	57.1	2	28.6	4	57.1	85.7	4	57.1	1	14.3	71.4	4	57.1	1	14.3	71.4	5	71.4	0	0.0	71.4				1	
2011	6	0	0.0	2	33.3	33.3	1	16.7	2	33.3	50.0	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7									1	
2012	5	1	20.0	4	80.0	100.0	4	80.0	1	20.0	100.0	5	100.0	0	0.0	100.0														1	
2013	6	0	0.0	3	50.0	50.0	0	0.0	4	66.7	66.7																			1	
2014	10	1	10.0	7	70.0	80.0																								1	
2015	6																														
1 year ch	ange in rate	2	10.0		20.0	30.0)	-80.0		46.7	-33.3	3	50.0		-16.7	33.3	1	-7.1		2.4	-4.8	3	-8.6		0.0) -8.6	5	22.9			0.0

^{*}Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

Mathematics

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		4
ohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		Graduated o 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TI
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
000	0																														
001	6	0	0.0	4	66.7	66.7	1	16.7	1	16.7	33.3	2	33.3	0	0.0	33.3	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0	5
02	2	0	0.0	2	100.0	100.0	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	
03	13	0	0.0	7	53.8	53.8	5	38.5	4	30.8	69.2	8	61.5	3	23.1	84.6	11	84.6	0	0.0	84.6	11	84.6	1	7.7	92.3	12	92.3	0	0	
04	12	0	0.0	8	66.7	66.7	2	16.7	3	25.0	41.7	3	25.0	1	8.3	33.3	5	41.7	0	0.0	41.7	5	41.7	0	0.0	41.7	7	58.3	0	0	
05	20	0	0.0	19	95.0	95.0	6	30.0	10	50.0	80.0	12	60.0	2	10.0	70.0	13	65.0	1	5.0	70.0	15	75.0	0	0.0	75.0	15	75.0	0	0	
06	19	0	0.0	16	84.2	84.2	10	52.6	8	42.1	94.7	14	73.7	4	21.1	94.7	16	84.2	0	0.0	84.2	16	84.2	0	0.0	84.2	16	84.2	0	0	
07	16	0	0.0	11	68.8	68.8	8	50.0	3	18.8	68.8	10	62.5	1	6.3	68.8	11	68.8	0	0.0	68.8	11	68.8	1	6.3	75.0	11	68.8	0	0	
80	32	0	0.0	26	81.3	81.3	12	37.5	10	31.3	68.8	23	71.9	1	3.1	75.0	24	75.0	1	3.1	78.1	24	75.0	1	3.1	78.1	25	78.1	0	0	
09	31	0	0.0	23	74.2	74.2	10	32.3	9	29.0	61.3	16	51.6	1	3.2	54.8	19	61.3	1	3.2	64.5	20	64.5	0	0.0	64.5	20	64.5	0	0	- 6
10	26	1	3.8	21	80.8	84.6	9	34.6	8	30.8	65.4	13	50.0	1	3.8	53.8	15	57.7	2	7.7	65.4	16	61.5	0	0.0	61.5					
11	38	1	2.6	27	71.1	73.7	18	47.4	9	23.7	71.1	27	71.1	0	0.0	71.1	27	71.1	0	0.0	71.1										
12	29	3	10.3	21	72.4	82.8	15	51.7	8	27.6	79.3	22	75.9	1	3.4	79.3															
13	49	4	8.2	35	71.4	79.6	24	49.0	10	20.4	69.4																				
14	41	1	2.4	34	82.9	85.4																									
15	45																														

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

 $^{**}TRR-Total\ retention\ rate=percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Philosophy

·			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort F	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated in 5 yrs	Cohort	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	4	0	0.0	2	50.0	50.0	0	0.0	0	0.0	0.0	0	0.0	1	25.0	25.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2001	2	0	0.0	2	100.0	100.0	0	0.0	2	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2002	6	0	0.0	5	83.3	83.3	4	66.7	2	33.3	100.0	4	66.7	0	0.0	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0	66.7
2003	11	1	9.1	7	63.6	72.7	5	45.5	0	0.0	45.5	7	63.6	0	0.0	63.6	7	63.6	0	0.0	63.6	7	63.6	0	0.0	63.6	7	63.6	0	0	63.6
2004	6	0	0.0	5	83.3	83.3	4	66.7	1	16.7	83.3	4	66.7	1	16.7	83.3	4	66.7	0	0.0	66.7	5	83.3	0	0.0	83.3	5	83.3	1	16.666667	100.0
2005	7	0	0.0	4	57.1	57.1	3	42.9	0	0.0	42.9	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0.0	57.1	4	57.1	0	0	57.1
2006	8	0	0.0	7	87.5	87.5	0	0.0	3	37.5	37.5	0	0.0	0	0.0	0.0	1	12.5	1	12.5	25.0	4	50.0	0	0.0	50.0	4	50.0	1	12.5	62.5
2007	10	0	0.0	9	90.0	90.0	3	30.0	2	20.0	50.0	6	60.0	0	0.0	60.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0	80.0
2008	10	0	0.0	7	70.0	70.0	0	0.0	2	20.0	20.0	1	10.0	0	0.0	10.0	1	10.0	0	0.0	10.0	2	20.0	0	0.0	20.0	2	20.0	0	0	20.0
2009	7	0	0.0	5	71.4	71.4	0	0.0	4	57.1	57.1	0	0.0	2	28.6	28.6	1	14.3	0	0.0	14.3	1	14.3	0	0.0	14.3	3	42.9	0	0	42.9
2010	14	0	0.0	11	78.6	78.6	2	14.3	3	21.4	35.7	5	35.7	2	14.3	50.0	7	50.0	0	0.0	50.0	7	50.0	1	7.1	57.1					
2011	8	0	0.0	5	62.5	62.5	0	0.0	2	25.0	25.0	2	25.0	1	12.5	37.5	3	37.5	0	0.0	37.5										
2012	6	0	0.0	3	50.0	50.0	1	16.7	3	50.0	66.7	1	16.7	2	33.3	50.0															
2013	0	-																													
2014	8	0	0.0	3	37.5	37.5																									
2015	4																														
1 year ch	ange in rate		0.0		37.5	37.5		-16.7		-50.0	-66.	7	-8.3		20.8	12.5		-12.5		0.0	-12.5	5	35.7		7.1	1 42.9	9	22.9		0.0	22.9

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

Psycholog

			2nd	Fall				3rd	f Fall				4th	Fall				5th	Fall				6th	Fall				7th	all		4
Cohort	N 1st Fall		e Graduated nin 1 yr	Cohor	t Retained	TRR**		ve Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort F	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1
2000	28	0	0.0	25	89.3	89.3	13	46.4	8	28.6	75.0	19	67.9	3	10.7	78.6	20	71.4	0	0.0	71.4	21	75.0	1	3.6	78.6	22	78.6	0	0.0	78.6
2001	26	0	0.0	25	96.2	96.2	11	42.3	6	23.1	65.4	19	73.1	4	15.4	88.5	21	80.8	0	0.0	80.8	22	84.6	0	0.0	84.6	23	88.5	0	0.0	88.5
2002	29	0	0.0	22	75.9	75.9	13	44.8	5	17.2	62.1	17	58.6	2	6.9	65.5	21	72.4	0	0.0	72.4	22	75.9	0	0.0	75.9	22	75.9	0	0.0	75.9
2003	29	0	0.0	25	86.2	86.2	15	51.7	2	6.9	58.6	19	65.5	0	0.0	65.5	21	72.4	0	0.0	72.4	23	79.3	0	0.0	79.3	23	79.3	0	0.0	79.3
2004	37	1	2.7	30	81.1	83.8	15	40.5	7	18.9	59.5	20	54.1	2	5.4	59.5	23	62.2	0	0.0	62.2	25	67.6	1	2.7	70.3	26	70.3	0	0.0	70.3
2005	35	1	2.9	24	68.6	71.4	8	22.9	11	31.4	54.3	18	51.4	3	8.6	60.0	22	62.9	0	0.0	62.9	23	65.7	0	0.0	65.7	23	65.7	0	0.0	65.7
2006	37	0	0.0	36	97.3	97.3	17	45.9	12	32.4	78.4	25	67.6	5	13.5	81.1	30	81.1	1	2.7	83.8	33	89.2	0	0.0	89.2	34	91.9	0	0.0	91.9
2007	32	0	0.0	31	96.9	96.9	19	59.4	10	31.3	90.6	26	81.3	2	6.3	87.5	30	93.8	0	0.0	93.8	30	93.8	0	0.0	93.8	30	93.8	0	0.0	93.8
2008	39	0	0.0	37	94.9	94.9	22	56.4	9	23.1	79.5	26	66.7	3	7.7	74.4	29	74.4	1	2.6	76.9	29	74.4	1	2.6	76.9	31	79.5	1	2.6	82.1
2009	48	0	0.0	46	95.8	95.8	21	43.8	15	31.3	75.0	32	66.7	4	8.3	75.0	35	72.9	0	0.0	72.9	36	75.0	0	0.0	75.0	37	77.1	0	0.0	77.1
2010	43	0	0.0	37	86.0	86.0	13	30.2	12	27.9	58.1	26	60.5	3	7.0	67.4	31	72.1	0	0.0	72.1	32	74.4	0	0.0	74.4					
2011	35	0	0.0	33	94.3	94.3	17	48.6	8	22.9	71.4	23	65.7	3	8.6	74.3	25	71.4	1	2.9	74.3										
2012	37	1	2.7	34	91.9	94.6	21	56.8	9	24.3	81.1	28	75.7	2	5.4	81.1															
2013	38	0	0.0	37	97.4	97.4	18	47.4	16	42.1	89.5																				
2014	41	0	0.0	39	95.1	95.1																									
2015	49						1																								

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

College of Business and Public Affairs

Criminal Justice

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	all		4
Cohort	N 1st Fall		ve Graduated nin 1 yr	Cohor	t Retained	TRR**		re Graduated o 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated 6 yrs	Cohort R	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1
2000	12	0	0.0	10	83.3	83.3	5	41.7	5	41.7	83.3	7	58.3	2	16.7	75.0	8	66.7	0	0.0	66.7	9	75.0	0	0.0	75.0	9	75.0	0	0	75.0
2001	10	0	0.0	9	90.0	90.0	1	10.0	6	60.0	70.0	4	40.0	4	40.0	80.0	6	60.0	0	0.0	60.0	7	70.0	1	10.0	80.0	8	80.0	0	0	80.0
2002	12	1	8.3	9	75.0	83.3	2	16.7	7	58.3	75.0	9	75.0	1	8.3	83.3	9	75.0	0	0.0	75.0	10	83.3	0	0.0	83.3	10	83.3	0	0	83.3
2003	10	1	10.0	8	80.0	90.0	3	30.0	5	50.0	80.0	5	50.0	5	50.0	100.0	7	70.0	1	10.0	80.0	8	80.0	1	10.0	90.0	8	80.0	0	0	80.0
2004	4	0	0.0	3	75.0	75.0	2	50.0	1	25.0	75.0	2	50.0	1	25.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0	75.0
2005	6	0	0.0	3	50.0	50.0	2	33.3	1	16.7	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	0	0	50.0
2006	7	0	0.0	6	85.7	85.7	4	57.1	2	28.6	85.7	5	71.4	1	14.3	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	85.7
2007	6	0	0.0	4	66.7	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	4	66.7	0	0	66.7
2008	17	9	52.9	6	35.3	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0.0	88.2	15	88.2	0	0	88.2
2009	33	5	15.2	20	60.6	75.8	19	57.6	4	12.1	69.7	22	66.7	2	6.1	72.7	24	72.7	1	3.0	75.8	25	75.8	0	0.0	75.8	26	78.8	0	0	78.8
2010	19	2	10.5	9	47.4	57.9	7	36.8	3	15.8	52.6	9	47.4	0	0.0	47.4	9	47.4	0	0.0	47.4	9	47.4	0	0.0	47.4					
2011	17	5	29.4	6	35.3	64.7	10	58.8	0	0.0	58.8	10	58.8	0	0.0	58.8	10	58.8	0	0.0	58.8										
2012	13	6	46.2	6	46.2	92.3	10	76.9	1	7.7	84.6	10	76.9	0	0.0	76.9															
2013	21	7	33.3	8	38.1	71.4	10	47.6	5	23.8	71.4																				
2014	28	4	14.3	14	50.0	64.3																									
2015	28						1																								

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

Economics and Finance

Economic	o and i me	arice																													
			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th F	all				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort F	Retained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR	Cumulative within	e Graduated n 4 yrs	Cohort R	Retained	TRR		e Graduated n 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	4	0	0.0	2	50.0	50.0	0	0.0	3	75.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0	75.0
2001	4	0	0.0	0	0.0	0.0	0	0.0	1	25.0	25.0	0	0.0	1	25.0	25.0	0	0.0	0	0.0	0.0	1	25.0	0	0.0	25.0	1	25.0	0	0	25.0
2002	10	0	0.0	8	80.0	80.0	1	10.0	5	50.0	60.0	7	70.0	1	10.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0	80.0
2003	4	0	0.0	4	100.0	100.0	2	50.0	2	50.0	100.0	3	75.0	1	25.0	100.0	4	100.0	0	0.0	100.0	4	100.0	0	0.0	100.0	4	100.0	0	0	100.0
2004	8	0	0.0	5	62.5	62.5	1	12.5	4	50.0	62.5	4	50.0	1	12.5	62.5	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0	75.0
2005	6	0	0.0	5	83.3	83.3	0	0.0	4	66.7	66.7	2	33.3	2	33.3	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0	66.7
2006	7	0	0.0	4	57.1	57.1	3	42.9	2	28.6	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0	71.4
2007	6	0	0.0	2	33.3	33.3	2	33.3	2	33.3	66.7	3	50.0	0	0.0	50.0	3	50.0	1	16.7	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0	66.7
2008	1	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0
2009	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Geography and Planning

			2nd	l Fall				3rd	i Fall				4th	Fall				5th I	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		ve Graduated nin 1 yr	Cohort	Retained	TRR**		ve Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	tetained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		e Graduated n 5 yrs	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRE
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	4
2000	3	0	0.0	3	100.0	100.0	1	33.3	1	33.3	66.7	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3	2	66.7	1	33.3	100.0	3	100.0	0	0.0	100
2001	5	0	0.0	3	60.0	60.0	0	0.0	2	40.0	40.0	3	60.0	1	20.0	80.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0	3	60.0	1	20.0	80.0
2002	7	0	0.0	5	71.4	71.4	1	14.3	0	0.0	14.3	2	28.6	0	0.0	28.6	2	28.6	0	0.0	28.6	3	42.9	0	0.0	42.9	3	42.9	1	14.3	57
2003	2	1	50.0	1	50.0	100.0	1	50.0	0	0.0	50.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.
2004	5	0	0.0	5	100.0	100.0	3	60.0	2	40.0	100.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.0	4	80.0	0	0.0	80.
2005	6	0	0.0	6	100.0	100.0	2	33.3	2	33.3	66.7	4	66.7	1	16.7	83.3	4	66.7	0	0.0	66.7	4	66.7	0	0.0	66.7	5	83.3	0	0.0	83.
2006	4	0	0.0	4	100.0	100.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0
2007	8	0	0.0	7	87.5	87.5	2	25.0	4	50.0	75.0	4	50.0	3	37.5	87.5	4	50.0	1	12.5	62.5	4	50.0	0	0.0	50.0	6	75.0	0	0.0	75.0
2008	6	1	16.7	5	83.3	100.0	3	50.0	2	33.3	83.3	4	66.7	0	0.0	66.7	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83.3	5	83.3	0	0.0	83
2009	7	0	0.0	7	100.0	100.0	5	71.4	0	0.0	71.4	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.
2010	8	0	0.0	7	87.5	87.5	2	25.0	2	25.0	50.0	4	50.0	1	12.5	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5					
2011	8	0	0.0	7	87.5	87.5	2	25.0	4	50.0	75.0	3	37.5	1	12.5	50.0	5	62.5	1	12.5	75.0										
2012	6	2	33.3	4	66.7	100.0	4	66.7	1	16.7	83.3	5	83.3	0	0.0	83.3															
2013	8	1	12.5	6	75.0	87.5	5	62.5	1	12.5	75.0																				
2014	9	1	11.1	7	77.8	88.9																									
2015	6																														

*Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Managemen

			2nd	Fall				3rd	Fall				4th	Fall				5th	all				6th	Fall				7th	Fall		4
ohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated n 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TI
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
000	19	1	5.3	14	73.7	78.9	6	31.6	5	26.3	57.9	11	57.9	1	5.3	63.2	11	57.9	0	0.0	57.9	12	63.2	0	0.0	63.2	12	63.2	0	0	6
001	9	1	11.1	5	55.6	66.7	5	55.6	2	22.2	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0	
02	15	0	0.0	10	66.7	66.7	3	20.0	5	33.3	53.3	6	40.0	2	13.3	53.3	7	46.7	0	0.0	46.7	8	53.3	0	0.0	53.3	8	53.3	0	0	
03	10	0	0.0	8	80.0	80.0	3	30.0	5	50.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0	
14	13	0	0.0	8	61.5	61.5	2	15.4	5	38.5	53.8	6	46.2	1	7.7	53.8	6	46.2	1	7.7	53.8	6	46.2	0	0.0	46.2	6	46.2	0	0	
)5	13	0	0.0	7	53.8	53.8	4	30.8	5	38.5	69.2	7	53.8	3	23.1	76.9	9	69.2	1	7.7	76.9	9	69.2	1	7.7	76.9	10	76.9	0	0	
06	7	0	0.0	6	85.7	85.7	4	57.1	2	28.6	85.7	6	85.7	1	14.3	100.0	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	
07	10	1	10.0	7	70.0	80.0	3	30.0	5	50.0	80.0	6	60.0	2	20.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0	
80	18	0	0.0	16	88.9	88.9	10	55.6	7	38.9	94.4	12	66.7	5	27.8	94.4	17	94.4	0	0.0	94.4	17	94.4	0	0.0	94.4	17	94.4	0	0	
09	21	2	9.5	12	57.1	66.7	10	47.6	6	28.6	76.2	16	76.2	1	4.8	81.0	17	81.0	0	0.0	81.0	17	81.0	0	0.0	81.0	17	81.0	0	0	
10	20	0	0.0	16	80.0	80.0	6	30.0	12	60.0	90.0	14	70.0	3	15.0	85.0	15	75.0	1	5.0	80.0	16	80.0	0	0.0	80.0					
11	18	0	0.0	13	72.2	72.2	5	27.8	8	44.4	72.2	10	55.6	3	16.7	72.2	12	66.7	1	5.6	72.2										
)12	21	0	0.0	20	95.2	95.2	4	19.0	17	81.0	100.0	16	76.2	4	19.0	95.2															
13	26	0	0.0	22	84.6	84.6	8	30.8	12	46.2	76.9																				
14	25	0	0.0	19	76.0	76.0																									
15	30																														

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Marketing

marnothig																															
			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th I	Fall				7th	Fall		
Cohort	N 1st Fall		Graduated	Cohort I	Retained	TRR**		e Graduated 2 yrs**	Cohort I	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR	Cumulative within	Graduated a 4 yrs	Cohort R	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	13	0	0.0	9	69.2	69.2	7	53.8	3	23.1	76.9	8	61.5	0	0.0	61.5	8	61.5	0	0.0	61.5	8	61.5	0	0.0	61.5	8	61.5	0	0	61.5
2001	15	1	6.7	12	80.0	86.7	2	13.3	9	60.0	73.3	12	80.0	0	0.0	80.0	12	80.0	0	0.0	80.0	12	80.0	0	0.0	80.0	12	80.0	0	0	80.0
2002	3	0	0.0	3	100.0	100.0	1	33.3	2	66.7	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0	100.0
2003	3	0	0.0	2	66.7	66.7	1	33.3	2	66.7	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0	100.0
2004	5	0	0.0	2	40.0	40.0	1	20.0	2	40.0	60.0	1	20.0	1	20.0	40.0	2	40.0	1	20.0	60.0	2	40.0	0	0.0	40.0	2	40.0	0	0	40.0
2005	6	0	0.0	4	66.7	66.7	1	16.7	3	50.0	66.7	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	4	66.7	0	0.0	66.7	4	66.7	0	0	66.7
2006	4	0	0.0	2	50.0	50.0	0	0.0	3	75.0	75.0	1	25.0	2	50.0	75.0	2	50.0	1	25.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0	75.0
2007	1	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

15

Public Policy and Administration

we Graduated hin 1 yr % 1F 0.0	Cohort R	etained TRR	Cui	ımulative Graduat	ed.																						4
	n			within 2 yrs**	Cohort	: Retained	TRR	Cumulative within	Graduated 3 yrs	Cohort F	Retained	TRR	Cumulative within	Graduated 4 yrs	Cohort F	Retained	TRR	Cumulative within		Cohort R	tetained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
0.0		% 1F		n % 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
	11	64.7 64.	7	1 5.9	11	64.7	70.6	3	17.6	6	35.3	52.9	9	52.9	0	0.0	52.9	12	70.6	1	5.9	76.5	13	76.5	0	0.0	76.5
0.0	13	76.5 76.	5	3 17.6	11	64.7	82.4	7	41.2	3	17.6	58.8	10	58.8	0	0.0	58.8	10	58.8	2	11.8	70.6	12	70.6	1	5.9	76.5
0.0	15	51.7 51.	7	2 6.9	14	48.3	55.2	8	27.6	7	24.1	51.7	12	41.4	0	0.0	41.4	14	48.3	0	0.0	48.3	15	51.7	0	0.0	51.7
0.0	19	86.4 86.	4	6 27.3	9	40.9	68.2	13	59.1	2	9.1	68.2	14	63.6	1	4.5	68.2	15	68.2	1	4.5	72.7	17	77.3	0	0.0	77.3
5.0	13	65.0 70.	0	7 35.0	6	30.0	65.0	10	50.0	0	0.0	50.0	11	55.0	0	0.0	55.0	11	55.0	0	0.0	55.0	11	55.0	1	5.0	60.0
13.3	9	60.0 73.		7 46.7	4	26.7	73.3	9	60.0	2	13.3	73.3	11	73.3	0	0.0	73.3	11	73.3	0	0.0	73.3	11	73.3	0	0.0	73.3
0.0	13	86.7 86.		6 40.0	6	40.0	80.0	9	60.0	3	20.0	80.0	10	66.7	1	6.7	73.3	11	73.3	0	0.0	73.3	11	73.3	0	0.0	73.3
7.7	9	69.2 76.	9	8 61.5	3	23.1	84.6	10	76.9	2	15.4	92.3	12	92.3	0	0.0	92.3	12	92.3	0	0.0	92.3	12	92.3	0	0.0	92.3
11.1	19	70.4 81.		17 63.0	2	7.4	70.4	18	66.7	1	3.7	70.4	19	70.4	1	3.7	74.1	20	74.1	0	0.0	74.1	20	74.1	0	0.0	74.1
0.0	17	94.4 94.		15 83.3	2	11.1	94.4	17	94.4	0	0.0	94.4	17	94.4	0	0.0	94.4	17	94.4	0	0.0	94.4	17	94.4	0	0.0	94.4
6.4	38	80.9 87.		22 46.8	19	40.4	87.2	34	72.3	6	12.8	85.1	39	83.0	1	2.1	85.1	41	87.2	0	0.0	87.2					
7.9	33	86.8 94.		25 65.8	9	23.7	89.5	32	84.2	2	5.3	89.5	34	89.5	0	0.0	89.5										
4.2	41	85.4 89.		21 43.8	12	25.0	68.8	33	68.8	4	8.3	77.1															
1.9				22 42.3	17	32.7	75.0																				
0.0	29	80.6 80.	5																								
			29 80.6 80.	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	29 80.6 80.6	

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

Social Work

			2nd	Fall				3rd	Fall				4th	Fall				5th	all				6th	Fall				7th	Fall		
hort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort I	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
00	9	3	33.3	5	55.6	88.9	7	77.8	1	11.1	88.9	8	88.9	1	11.1	100.0	9	100.0	0	0.0	100.0	9	100.0	0	0.0	100.0	9	100.0	0	0.0	
01	14	3	21.4	7	50.0	71.4	8	57.1	1	7.1	64.3	9	64.3	1	7.1	71.4	9	64.3	0	0.0	64.3	9	64.3	0	0.0	64.3	9	64.3	0	0.0	
2	31	5	16.1	22	71.0	87.1	16	51.6	10	32.3	83.9	23	74.2	4	12.9	87.1	26	83.9	0	0.0	83.9	26	83.9	1	3.2	87.1	27	87.1	0	0.0	
3	29	3	10.3	23	79.3	89.7	18	62.1	6	20.7	82.8	21	72.4	4	13.8	86.2	26	89.7	0	0.0	89.7	26	89.7	0	0.0	89.7	26	89.7	0	0.0	
.	33	8	24.2	19	57.6	81.8	17	51.5	8	24.2	75.8	20	60.6	5	15.2	75.8	25	75.8	0	0.0	75.8	26	78.8	0	0.0	78.8	26	78.8	1	3.0	
	33	13	39.4	14	42.4	81.8	24	72.7	3	9.1	81.8	25	75.8	1	3.0	78.8	26	78.8	0	0.0	78.8	26	78.8	0	0.0	78.8	26	78.8	0	0.0	
5	44	11	25.0	25	56.8	81.8	25	56.8	8	18.2	75.0	31	70.5	4	9.1	79.5	34	77.3	1	2.3	79.5	34	77.3	0	0.0	77.3	34	77.3	0	0.0	
١.	48	17	35.4	22	45.8	81.3	28	58.3	12	25.0	83.3	31	64.6	9	18.8	83.3	39	81.3	1	2.1	83.3	40	83.3	0	0.0	83.3	40	83.3	0	0.0	
:	39	12	30.8	25	64.1	94.9	26	66.7	10	25.6	92.3	34	87.2	2	5.1	92.3	36	92.3	0	0.0	92.3	36	92.3	0	0.0	92.3	36	92.3	0	0.0	
	38	6	15.8	20	52.6	68.4	17	44.7	9	23.7	68.4	21	55.3	4	10.5	65.8	24	63.2	1	2.6	65.8	25	65.8	1	2.6	68.4	25	65.8	1	2.6	
	52	4	7.7	36	69.2	76.9	24	46.2	15	28.8	75.0	33	63.5	5	9.6	73.1	39	75.0	0	0.0	75.0	39	75.0	0	0.0	75.0					
1	67	14	20.9	45	67.2	88.1	41	61.2	15	22.4	83.6	44	65.7	13	19.4	85.1	56	83.6	0	0.0	83.6										
2	65	12	18.5	50	76.9	95.4	39	60.0	20	30.8	90.8	51	78.5	8	12.3	90.8															
3	92	15	16.3	62	67.4	83.7	46	50.0	26	28.3	78.3																				
ı	125	17	13.6	95	76.0	89.6																									
5	115																														

 $[*] Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

 $^{**}TRR-Total\ retention\ rate=percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

College of Education

Counselor Education

			2nd	Fall				3rc	d Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		ive Graduated thin 1 yr	Cohor	t Retained	TRR**		ve Graduated n 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort F	tetained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated in 5 yrs	Cohort	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	42	0	0.0	38	90.5	90.5	11	26.2	22	52.4	78.6	22	52.4	13	31.0	83.3	29	69.0	0	0.0	69.0	32	76.2	2	4.8	81.0	35	83.3	0	0.0	83.3
2001	37	0	0.0	32	86.5	86.5	11	29.7	20	54.1	83.8	20	54.1	11	29.7	83.8	29	78.4	0	0.0	78.4	31	83.8	0	0.0	83.8	32	86.5	1	2.7	89.2
2002	48	0	0.0	41	85.4	85.4	15	31.3	24	50.0	81.3	31	64.6	6	12.5	77.1	36	75.0	0	0.0	75.0	37	77.1	2	4.2	81.3	39	81.3	0	0.0	81.3
2003	35	1	2.9	31	88.6	91.4	13	37.1	17	48.6	85.7	21	60.0	9	25.7	85.7	27	77.1	3	8.6	85.7	30	85.7	0	0.0	85.7	30	85.7	0	0.0	85.7
2004	50	0	0.0	43	86.0	86.0	21	42.0	20	40.0	82.0	31	62.0	9	18.0	80.0	35	70.0	4	8.0	78.0	39	78.0	0	0.0	78.0	39	78.0	0	0.0	78.0
2005	44	0	0.0	38	86.4	86.4	13	29.5	23	52.3	81.8	31	70.5	5	11.4	81.8	33	75.0	3	6.8	81.8	34	77.3	0	0.0	77.3	34	77.3	0	0.0	77.3
2006	47	0	0.0	37	78.7	78.7	13	27.7	23	48.9	76.6	29	61.7	6	12.8	74.5	34	72.3	1	2.1	74.5	34	72.3	1	2.1	74.5	35	74.5	0	0.0	74.5
2007	64	0	0.0	57	89.1	89.1	19	29.7	38	59.4	89.1	42	65.6	13	20.3	85.9	50	78.1	5	7.8	85.9	53	82.8	4	6.3	89.1	56	87.5	0	0.0	87.5
2008	41	1	2.4	36	87.8	90.2	11	26.8	24	58.5	85.4	26	63.4	8	19.5	82.9	31	75.6	3	7.3	82.9	33	80.5	1	2.4	82.9	33	80.5	1	2.4	82.9
2009	64	0	0.0	58	90.6	90.6	23	35.9	32	50.0	85.9	44	68.8	11	17.2	85.9	50	78.1	3	4.7	82.8	52	81.3	3	4.7	85.9	55	85.9	0	0.0	85.9
2010	48	0	0.0	43	89.6	89.6	23	47.9	21	43.8	91.7	35	72.9	8	16.7	89.6	40	83.3	3	6.3	89.6	42	87.5	1	2.1	89.6					
2011	66 52	0	0.0	60 46	90.9	90.9 88.5	23 23	34.8 44.2	36 20	54.5	89.4	46 36	69.7 69.2	13	19.7	89.4 82.7	5/	86.4	2	3.0	89.4										
2012	-	0	0.0		88.5	83.0	28		17	38.5	82.7 84.9	30	69.2	,	13.5	82.7															
2013	53 54	1	1.9	43	81.1 87.0		28	52.8	1/	32.1	84.9																				
2014	60	0	0.0	47	87.0	87.0																									
2015	30	<u> </u>		l .			<u> </u>		1											1		I	1		1						Щ
1 year ch	ange in rate	:	-1.9		5.9	4.0)	8.6	5	-6.4	2.2		-0.5		-6.2	-6.7		3.0		-3.2	-0.2	2	6.3		-2.6	3.6	i	5.4		-2.4	4 3.0

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Early and Middle Grades Education

			2nd	Fall				3rd	Fall				4th	Fall				5th f	Fall				6th I	Fall				7th	Fall		4
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRE
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1
2000	25	1	4.0	16	64.0	68.0	7	28.0	9	36.0	64.0	8	32.0	4	16.0	48.0	11	44.0	0	0.0	44.0	14	56.0	0	0.0	56.0	15	60.0	0	0.0	60.0
2001	16	0	0.0	12	75.0	75.0	2	12.5	6	37.5	50.0	3	18.8	6	37.5	56.3	5	31.3	0	0.0	31.3	6	37.5	3	18.8	56.3	8	50.0	0	0.0	50.0
2002	13	0	0.0	8	61.5	61.5	1	7.7	8	61.5	69.2	4	30.8	3	23.1	53.8	5	38.5	0	0.0	38.5	5	38.5	1	7.7	46.2	6	46.2	0	0.0	46.2
2003	16	1	6.3	10	62.5	68.8	3	18.8	6	37.5	56.3	4	25.0	6	37.5	62.5	8	50.0	3	18.8	68.8	9	56.3	2	12.5	68.8	11	68.8	1	6.3	75.0
2004	15	1	6.7	8	53.3	60.0	1	6.7	8	53.3	60.0	5	33.3	6	40.0	73.3	9	60.0	1	6.7	66.7	10	66.7	1	6.7	73.3	10	66.7	0	0.0	66.7
2005	26	0	0.0	22	84.6	84.6	2	7.7	16	61.5	69.2	15	57.7	5	19.2	76.9	18	69.2	2	7.7	76.9	21	80.8	0	0.0	80.8	21	80.8	0	0.0	80.8
2006	12	1	8.3	10	83.3	91.7	3	25.0	6	50.0	75.0	7	58.3	1	8.3	66.7	9	75.0	2	16.7	91.7	11	91.7	0	0.0	91.7	11	91.7	0	0.0	91.7
2007	54	0	0.0	45	83.3	83.3	29	53.7	15	27.8	81.5	45	83.3	2	3.7	87.0	46	85.2	1	1.9	87.0	47	87.0	0	0.0	87.0	47	87.0	0	0.0	87.0
2008	38	3	7.9	30	78.9	86.8	19	50.0	7	18.4	68.4	25	65.8	0	0.0	65.8	25	65.8	2	5.3	71.1	27	71.1	1	2.6	73.7	28	73.7	0	0.0	73.7
2009	19	5	26.3	12	63.2	89.5	12	63.2	5	26.3	89.5	14	73.7	3	15.8	89.5	17	89.5	0	0.0	89.5	17	89.5	0	0.0	89.5	17	89.5	0	0.0	89.5
2010	15	2	13.3	11	73.3	86.7	8	53.3	4	26.7	80.0	11	73.3	2	13.3	86.7	13	86.7	0	0.0	86.7	13	86.7	0	0.0	86.7					
2011	11	1	9.1	3	27.3	36.4	4	36.4	1	9.1	45.5	5	45.5	1	9.1	54.5	6	54.5	0	0.0	54.5										
2012	11	1	9.1	9	81.8	90.9	7	63.6	4	36.4	100.0	9	81.8	1	9.1	90.9															
2013	5	0	0.0	3	60.0	60.0	1	20.0	2	40.0	60.0																				
2014	4	0	0.0	4	100.0	100.0																									
2015	15																														

Literacy

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort I	Retained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	tetained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	ĺ	n	% 1F	n	% 1F	
2000	38	0	0.0	33	86.8	86.8	8	21.1	20	52.6	73.7	14	36.8	10	26.3	63.2	28	73.7	0	0.0	73.7	32	84.2	1	2.6	86.8	32	84.2	1	2.6	86.8
2001	27	0	0.0	20	74.1	74.1	1	3.7	20	74.1	77.8	9	33.3	8	29.6	63.0	16	59.3	0	0.0	59.3	20	74.1	2	7.4	81.5	22	81.5	1	3.7	85.2
2002	23	1	4.3	17	73.9	78.3	4	17.4	17	73.9	91.3	9	39.1	9	39.1	78.3	13	56.5	0	0.0	56.5	20	87.0	1	4.3	91.3	21	91.3	0	0.0	91.3
2003	16	0	0.0	12	75.0	75.0	3	18.8	6	37.5	56.3	5	31.3	2	12.5	43.8	8	50.0	3	18.8	68.8	10	62.5	0	0.0	62.5	10	62.5	0	0.0	62.5
2004	21	0	0.0	19	90.5	90.5	1	4.8	14	66.7	71.4	11	52.4	5	23.8	76.2	14	66.7	1	4.8	71.4	15	71.4	1	4.8	76.2	17	81.0	0	0.0	81.0
2005	38	0	0.0	31	81.6	81.6	3	7.9	25	65.8	73.7	11	28.9	18	47.4	76.3	22	57.9	8	21.1	78.9	30	78.9	2	5.3	84.2	32	84.2	1	2.6	86.8
2006	20	0	0.0	14	70.0	70.0	1	5.0	12	60.0	65.0	4	20.0	10	50.0	70.0	8	40.0	5	25.0	65.0	11	55.0	1	5.0	60.0	13	65.0	1	5.0	70.0
2007	37	0	0.0	32	86.5	86.5	5	13.5	23	62.2	75.7	13	35.1	13	35.1	70.3	25	67.6	5	13.5	81.1	28	75.7	2	5.4	81.1	31	83.8	0	0.0	83.8
2008	27	0	0.0	23	85.2	85.2	4	14.8	18	66.7	81.5	13	48.1	6	22.2	70.4	19	70.4	2	7.4	77.8	21	77.8	0	0.0	77.8	21	77.8	0	0.0	77.8
2009	19	0	0.0	15	78.9	78.9	4	21.1	12	63.2	84.2	13	68.4	2	10.5	78.9	14	73.7	2	10.5	84.2	15	78.9	1	5.3	84.2	16	84.2	0	0.0	84.2
2010	21	0	0.0	17	81.0	81.0	5	23.8	10	47.6	71.4	11	52.4	6	28.6	81.0	17	81.0	0	0.0	81.0	17	81.0	0	0.0	81.0					
2011	26	0	0.0	20	76.9	76.9	5	19.2	14	53.8	73.1	15	57.7	6	23.1	80.8	20	76.9	2	7.7	84.6										
2012	24	0	0.0	19	79.2	79.2	5	20.8	17	70.8	91.7	9	37.5	12	50.0	87.5															
2013	28	0	0.0	26	92.9	92.9	3	10.7	21	75.0	85.7																				
2014	13	0	0.0	9	69.2	69.2																									
2015	40																														
1 year cl	nange in rate		0.0		-23.6	5 -23.6	,	-10.1		4.2	-6.0)	-20.2		26.9	6.7		-4.0		7.7	3.7		2.0		-5.3	3 -3.3	3	6.4		0.0	6.4

 $* Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

 $**TRR-Total\ retention\ rate=percent\ of\ the\ original\ cohort\ that\ has\ been\ retained\ or\ graduated\ in\ the\ fall\ indicated.$

Professional and Secondary Education

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
nort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		e Graduated a 2 yrs**	Cohort	Retained	TRR		Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
00	4	0	0.0	2	50.0	50.0	0	0.0	1	25.0	25.0	1	25.0	1	25.0	50.0	1	25.0	0	0.0	25.0	2	50.0	0	0.0	50.0	3	75.0	1	25	
1	11	1	9.1	10	90.9	100.0	1	9.1	7	63.6	72.7	4	36.4	5	45.5	81.8	6	54.5	0	0.0	54.5	7	63.6	0	0.0	63.6	8	72.7	0	0	
	8	0	0.0	5	62.5	62.5	2	25.0	5	62.5	87.5	4	50.0	2	25.0	75.0	6	75.0	0	0.0	75.0	6	75.0	0	0.0	75.0	7	87.5	0	0	
	8	0	0.0	4	50.0	50.0	2	25.0	1	12.5	37.5	4	50.0	0	0.0	50.0	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0	
	3	0	0.0	2	66.7	66.7	2	66.7	0	0.0	66.7	2	66.7	1	33.3	100.0	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7	3	100.0	0	0	
	4	0	0.0	3	75.0	75.0	2	50.0	2	50.0	100.0	3	75.0	0	0.0	75.0	4	100.0	0	0.0	100.0	4	100.0	0	0.0	100.0	4	100.0	0	0	
	13	0	0.0	6	46.2	46.2	3	23.1	0	0.0	23.1	6	46.2	2	15.4	61.5	8	61.5	1	7.7	69.2	9	69.2	0	0.0	69.2	9	69.2	0	0	
	10	4	40.0	5	50.0	90.0	5	50.0	4	40.0	90.0	7	70.0	0	0.0	70.0	7	70.0	0	0.0	70.0	7	70.0	1	10.0	80.0	7	70.0	0	0	
	8	2	25.0	4	50.0	75.0	2	25.0	4	50.0	75.0	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5	5	62.5	1	12.5	75.0	6	75.0	0	0	
	12	1	8.3	7	58.3	66.7	6	50.0	5	41.7	91.7	8	66.7	1	8.3	75.0	10	83.3	0	0.0	83.3	10	83.3	0	0.0	83.3	10	83.3	0	0	
	8	1	12.5	4	50.0	62.5	3	37.5	3	37.5	75.0	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5	5	62.5	0	0.0	62.5					
	5	0	0.0	5	100.0	100.0	3	60.0	2	40.0	100.0	4	80.0	1	20.0	100.0	5	100.0	0	0.0	100.0										
	6	2	33.3	3	50.0	83.3	4	66.7	1	16.7	83.3	5	83.3	0	0.0	83.3															
	5	1	20.0	3	60.0	80.0	1	20.0	3	60.0	80.0						1														
	4	0	0.0	4	100.0	100.0																									
	10																													1	

 $* Includes full-time \ and \ part-time \ students, \ as \ well \ as \ new \ Master's \ degree-students \ who \ enter \ the \ program \ with \ graduate \ level \ credits \ completed.$

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

18

Special Education

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th F	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort F	Retained	TRR		e Graduated in 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	letained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	1	0	0.0	1	100.0	100.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2001	3	1	33.3	1	33.3	66.7	1	33.3	1	33.3	66.7	1	33.3	1	33.3	66.7	3	100.0	0	0.0	100.0	3	100.0	0	0.0	100.0	3	100.0	0	0	100.0
2002	5	0	0.0	3	60.0	60.0	0	0.0	3	60.0	60.0	2	40.0	1	20.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0.0	60.0	3	60.0	0	0	60.0
2003	6	0	0.0	5	83.3	83.3	1	16.7	2	33.3	50.0	3	50.0	1	16.7	66.7	3	50.0	1	16.7	66.7	4	66.7	2	33.3	100.0	5	83.3	0	0	83.3
2004	6	0	0.0	6	100.0	100.0	1	16.7	5	83.3	100.0	3	50.0	0	0.0	50.0	4	66.7	1	16.7	83.3	5	83.3	0	0.0	83.3	5	83.3	0	0	83.3
2005	2	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2006	9	0	0.0	6	66.7	66.7	3	33.3	2	22.2	55.6	4	44.4	2	22.2	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0	66.7
2007	14	1	7.1	12	85.7	92.9	9	64.3	1	7.1	71.4	10	71.4	0	0.0	71.4	10	71.4	0	0.0	71.4	11	78.6	0	0.0	78.6	11	78.6	0	0	78.6
2008	11	2	18.2	3	27.3	45.5	5	45.5	0	0.0	45.5	5	45.5	0	0.0	45.5	5	45.5	1	9.1	54.5	5	45.5	0	0.0	45.5	5	45.5	0	0	45.5
2009	24	5	20.8	14	58.3	79.2	11	45.8	7	29.2	75.0	16	66.7	3	12.5	79.2	18	75.0	1	4.2	79.2	19	79.2	0	0.0	79.2	19	79.2	0	0	79.2
2010	15	2	13.3	11	73.3	86.7	9	60.0	3	20.0	80.0	14	93.3	2	13.3	106.7	15	100.0	0	0.0	100.0	15	100.0	0	0.0	100.0				ı	
2011	15	0	0.0	10	66.7	66.7	0	0.0	7	46.7	46.7	6	40.0	2	13.3	53.3	6	40.0	1	6.7	46.7									ı	
2012	23	0	0.0	12	52.2	52.2	6	26.1	9	39.1	65.2	11	47.8	3	13.0	60.9														ı	
2013	23	0	0.0	16	69.6	69.6	2	8.7	14	60.9	69.6																			ı	
2014	22	3	13.6	14	63.6	77.3	ĺ																							ı	
2015	26																														
1 year c	nange in rate		13.6		-5.9	7.7		-17.4		21.7	4.3	i	7.8		-0.3	7.5		-60.0		6.7	-53.3		20.8		0.0	20.8	3	33.7		0.0	33.7

^{*}Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

College of Health Sciences

Communicative Disorders

			2nd	Fall				3rd	l Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		ive Graduated thin 1 yr	Cohor	t Retained	TRR**		e Graduated 1 2 yrs**	Cohort	Retained	TRR		Graduated o 3 yrs	Cohort I	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort	Retained	TRR		Graduated	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	1
2000	29	0	0.0	28	96.6	96.6	0	0.0	28	96.6	96.6	20	69.0	5	17.2	86.2	27	93.1	0	0.0	93.1	28	96.6	0	0.0	96.6	28	96.6	0	0	96.6
2001	22	0	0.0	22	100.0	100.0	4	18.2	16	72.7	90.9	18	81.8	3	13.6	95.5	19	86.4	0	0.0	86.4	22	100.0	0	0.0	100.0	22	100.0	0	0	100.0
2002	28	0	0.0	26	92.9	92.9	1	3.6	26	92.9	96.4	10	35.7	11	39.3	75.0	21	75.0	0	0.0	75.0	24	85.7	0	0.0	85.7	25	89.3	0	0	89.3
2003	35	0	0.0	34	97.1	97.1	1	2.9	29	82.9	85.7	18	51.4	9	25.7	77.1	29	82.9	0	0.0	82.9	31	88.6	0	0.0	88.6	32	91.4	0	0	91.4
2004	29	0	0.0	26	89.7	89.7	0	0.0	26	89.7	89.7	15	51.7	6	20.7	72.4	21	72.4	0	0.0	72.4	25	86.2	0	0.0	86.2	25	86.2	0	0	86.2
2005	28	0	0.0	27	96.4	96.4	0	0.0	21	75.0	75.0	14	50.0	9	32.1	82.1	21	75.0	2	7.1	82.1	23	82.1	1	3.6	85.7	24	85.7	0	0	85.7
2006	32	0	0.0	24	75.0	75.0	0	0.0	23	71.9	71.9	16	50.0	7	21.9	71.9	22	68.8	1	3.1	71.9	23	71.9	0	0.0	71.9	23	71.9	0	0	71.9
2007	25	0	0.0	23	92.0	92.0	0	0.0	21	84.0	84.0	16	64.0	4	16.0	80.0	20	80.0	0	0.0	80.0	20	80.0	1	4.0	84.0	21	84.0	0	0	84.0
2008	27	0	0.0	27	100.0	100.0	20	74.1	6	22.2	96.3	26	96.3	0	0.0	96.3	26	96.3	0	0.0	96.3	26	96.3	0	0.0	96.3	26	96.3	0	0	96.3
2009	26	0	0.0	25	96.2	96.2	20	76.9	4	15.4	92.3	25	96.2	0	0.0	96.2	25	96.2	0	0.0	96.2	25	96.2	0	0.0	96.2	25	96.2	0	0	96.2
2010	27	0	0.0	27	100.0	100.0	20	74.1	6	22.2	96.3	26	96.3	0	0.0	96.3	27	100.0	0	0.0	100.0	27	100.0	0	0.0	100.0				ı	
2011	27	0	0.0	27	100.0	100.0	22	81.5	4	14.8	96.3	27	100.0	0	0.0	100.0	27	100.0	0	0.0	100.0									l	
2012	28	0	0.0	28	100.0	100.0	22	78.6	5	17.9	96.4	28	100.0	0	0.0	100.0														ı	
2013	28	0	0.0	27	96.4	96.4	22	78.6	4	14.3	92.9																			ı	
2014	28	0	0.0	28	100.0	100.0																								ı	
2015	28																														
1 year ch	nange in rate	:	0.0		3.6	3.6	i	0.0		-3.6	-3.6		0.0		0.0	0.0		0.0		0.0	0.	0	3.8		0.0	3.8	3	-0.1		0.0) -0

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

19

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Health

			2nd	Fall				3rd	l Fall				4th	Fall				5th I	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		re Graduated nin 1 yr	Cohort	Retained	TRR**		re Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort F	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	12	0	0.0	9	75.0	75.0	3	25.0	5	41.7	66.7	7	58.3	2	16.7	75.0	7	58.3	0	0.0	58.3	8	66.7	1	8.3	75.0	9	75.0	0	0.0	75.0
2001	12	0	0.0	9	75.0	75.0	5	41.7	4	33.3	75.0	9	75.0	0	0.0	75.0	9	75.0	0	0.0	75.0	10	83.3	0	0.0	83.3	10	83.3	0	0.0	83.3
2002	31	2	6.5	24	77.4	83.9	11	35.5	15	48.4	83.9	19	61.3	5	16.1	77.4	26	83.9	0	0.0	83.9	27	87.1	0	0.0	87.1	27	87.1	0	0.0	87.1
2003	23	1	4.3	16	69.6	73.9	13	56.5	4	17.4	73.9	15	65.2	3	13.0	78.3	18	78.3	0	0.0	78.3	19	82.6	0	0.0	82.6	19	82.6	0	0.0	82.6
2004	35	2	5.7	27	77.1	82.9	15	42.9	13	37.1	80.0	26	74.3	0	0.0	74.3	29	82.9	0	0.0	82.9	31	88.6	0	0.0	88.6	31	88.6	0	0.0	88.6
2005	24	0	0.0	22	91.7	91.7	9	37.5	7	29.2	66.7	17	70.8	1	4.2	75.0	19	79.2	0	0.0	79.2	20	83.3	0	0.0	83.3	20	83.3	0	0.0	83.3
2006	28	0	0.0	24	85.7	85.7	12	42.9	8	28.6	71.4	19	67.9	1	3.6	71.4	22	78.6	2	7.1	85.7	23	82.1	1	3.6	85.7	24	85.7	0	0.0	85.7
2007	38	0	0.0	33	86.8	86.8	10	26.3	16	42.1	68.4	22	57.9	7	18.4	76.3	29	76.3	2	5.3	81.6	30	78.9	0	0.0	78.9	30	78.9	0	0.0	78.9
2008	33	1	3.0	22	66.7	69.7	9	27.3	14	42.4	69.7	20	60.6	3	9.1	69.7	25	75.8	2	6.1	81.8	27	81.8	1	3.0	84.8	28	84.8	0	0.0	84.8
2009	38	2	5.3	30	78.9	84.2	15	39.5	14	36.8	76.3	25	65.8	4	10.5	76.3	27	71.1	4	10.5	81.6	30	78.9	1	2.6	81.6	31	81.6	1	2.6	84.2
2010	51	2	3.9	40	78.4	82.4	29	56.9	13	25.5	82.4	38	74.5	3	5.9	80.4	40	78.4	3	5.9	84.3	43	84.3	0	0.0	84.3					
2011	54	4	7.4	43	79.6	87.0	23	42.6	16	29.6	72.2	36	66.7	3	5.6	72.2	39	72.2	2	3.7	75.9										
2012	51	5	9.8	41	80.4	90.2	30	58.8	10	19.6	78.4	38	74.5	4	7.8	82.4															
2013	48	3	6.3	36	75.0	81.3	21	43.8	16	33.3	77.1																				
2014	50	1	2.0	37	74.0	76.0																									
2015	56																														

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Kinociology

			2nd	Fall				3rd	f Fall				4th	Fall				5th	Fall				6th	Fall				7th	all		4
Cohort	N 1st Fall		e Graduated nin 1 yr	Cohort	: Retained	TRR**		ve Graduated n 2 yrs**	Cohort	Retained	TRR		Graduated a 3 yrs	Cohort F	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated	Cohort F	tetained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	6	0	0.0	5	83.3	83.3	0	0.0	3	50.0	50.0	0	0.0	2	33.3	33.3	1	16.7	0	0.0	16.7	2	33.3	0	0.0	33.3	2	33.3	0	0	33.3
2001	10	0	0.0	8	80.0	80.0	0	0.0	3	30.0	30.0	2	20.0	1	10.0	30.0	3	30.0	0	0.0	30.0	5	50.0	1	10.0	60.0	5	50.0	0	0	50.0
2002	4	0	0.0	1	25.0	25.0	0	0.0	1	25.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0	25.0
2003	10	0	0.0	5	50.0	50.0	4	40.0	0	0.0	40.0	4	40.0	0	0.0	40.0	4	40.0	1	10.0	50.0	5	50.0	0	0.0	50.0	5	50.0	0	0	50.0
2004	7	0	0.0	5	71.4	71.4	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	1	14.3	0	0.0	14.3	4	57.1	0	0.0	57.1	4	57.1	0	0	57.1
2005	4	0	0.0	3	75.0	75.0	0	0.0	1	25.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0.0	25.0	1	25.0	0	0	25.0
2006	4	0	0.0	3	75.0	75.0	2	50.0	0	0.0	50.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0.0	75.0	3	75.0	0	0	75.0
2007	8	0	0.0	5	62.5	62.5	4	50.0	0	0.0	50.0	4	50.0	0	0.0	50.0	4	50.0	0	0.0	50.0	4	50.0	0	0.0	50.0	4	50.0	0	0	50.0
2008	7	0	0.0	5	71.4	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0.0	71.4	5	71.4	0	0	71.4
2009	6	0	0.0	4	66.7	66.7	2	33.3	0	0.0	33.3	3	50.0	0	0.0	50.0	3	50.0	0	0.0	50.0	3	50.0	1	16.7	66.7	4	66.7	0	0	66.7
2010	14	0	0.0	13	92.9	92.9	7	50.0	3	21.4	71.4	10	71.4	2	14.3	85.7	11	78.6	0	0.0	78.6	11	78.6	0	0.0	78.6					
2011	9	0	0.0	8	88.9	88.9	7	77.8	0	0.0	77.8	8	88.9	0	0.0	88.9	8	88.9	0	0.0	88.9										
2012	16	0	0.0	13	81.3	81.3	7	43.8	3	18.8	62.5	9	56.3	1	6.3	62.5															
2013	16	1	6.3	13	81.3	87.5	12	75.0	2	12.5	87.5																				
2014	19	0	0.0	17	89.5	89.5																									
2015	20			1																											

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Nursing

			2nd F	all				3rd	Fall				4th	Fall				5th I	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort F	Retained	TRR**		re Graduated	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	t Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	2	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	1	50.0	0	0.0	50.0	1	50.0	0	0	50.0
2001	10	0	0.0	9	90.0	90.0	1	10.0	7	70.0	80.0	7	70.0	1	10.0	80.0	8	80.0	0	0.0	80.0	9	90.0	0	0.0	90.0	9	90.0	0	0	90.0
2002	4	0	0.0	3	75.0	75.0	1	25.0	3	75.0	100.0	2	50.0	2	50.0	100.0	3	75.0	0	0.0	75.0	3	75.0	1	25.0	100.0	4	100.0	0	0	100.0
2003	10	0	0.0	8	80.0	80.0	2	20.0	5	50.0	70.0	5	50.0	2	20.0	70.0	6	60.0	1	10.0	70.0	6	60.0	1	10.0	70.0	7	70.0	0	0	70.0
2004	10	0	0.0	9	90.0	90.0	1	10.0	8	80.0	90.0	6	60.0	2	20.0	80.0	9	90.0	0	0.0	90.0	9	90.0	0	0.0	90.0	9	90.0	0	0	90.0
2005	9	1	11.1	7	77.8	88.9	1	11.1	6	66.7	77.8	6	66.7	2	22.2	88.9	8	88.9	0	0.0	88.9	8	88.9	0	0.0	88.9	8	88.9	0	0	88.9
2006	9	0	0.0	6	66.7	66.7	3	33.3	3	33.3	66.7	4	44.4	2	22.2	66.7	5	55.6	1	11.1	66.7	6	66.7	0	0.0	66.7	6	66.7	0	0	66.7
2007	6	0	0.0	5	83.3	83.3	1	16.7	4	66.7	83.3	3	50.0	3	50.0	100.0	5	83.3	1	16.7	100.0	6	100.0	0	0.0	100.0	6	100.0	0	0	100.0
2008	2	0	0.0	1	50.0	50.0	1	50.0	1	50.0	100.0	1	50.0	1	50.0	100.0	1	50.0	1	50.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0	100.0
2009	11	0	0.0	7	63.6	63.6	1	9.1	5	45.5	54.5	4	36.4	3	27.3	63.6	7	63.6	0	0.0	63.6	7	63.6	0	0.0	63.6	7	63.6	0	0	63.6
2010	14	1	7.1	8	57.1	64.3	5	35.7	3	21.4	57.1	8	57.1	0	0.0	57.1	8	57.1	0	0.0	57.1	8	57.1	0	0.0	57.1					
2011	13	1	7.7	10	76.9	84.6	3	23.1	8	61.5	84.6	11	84.6	0	0.0	84.6	11	84.6	1	7.7	92.3										
2012	12	0	0.0	10	83.3	83.3	8	66.7	2	16.7	83.3	8	66.7	2	16.7	83.3															
2013	7	0	0.0	4	57.1	57.1	2	28.6	3	42.9	71.4																				
2014	14	0	0.0	9	64.3	64.3																									
2015	9																														

*Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Nutrition

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		Graduated n 1 yr	Cohort	Retained	TRR**			Cohort F	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort F	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	İ	n	% 1F	n	% 1F	
2010	7	0	0.0	6	85.7	85.7	4	57.1	2	28.6	85.7	4	57.1	2	28.6	85.7	5	71.4	1	14.3	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	85.7
2011	16	4	25.0	11	68.8	93.8	14	87.5	1	6.3	93.8	15	93.8	0	0.0	93.8	16	100.0	0	0.0	100.0	16	100.0	0	0.0	100.0	16	100.0	0	0	100.0
2012	10	5	50.0	5	50.0	100.0	8	80.0	2	20.0	100.0	9	90.0	1	10.0	100.0	9	90.0	0	0.0	90.0	9	90.0	0	0.0	90.0	9	90.0	0	0	90.0
2013	26	9	34.6	13	50.0	84.6	17	65.4	3	11.5	76.9	17	65.4	0	0.0	65.4	17	65.4	0	0.0	65.4	17	65.4	0	0.0	65.4	17	65.4	0	0	65.4
2014	18	11	61.1	4	22.2	83.3	11	61.1	0	0.0	61.1	11	61.1	0	0.0	61.1	11	61.1	0	0.0	61.1	11	61.1	0	0.0	61.1	11	61.1	0	0	61.1
2015	23	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
																				•											
1 year ch	ange in rate		26.5		-27.8	-1.3	TRR** Cumulative Graduated within 2 yrs** n			-8.5	-23.1		-3.8		10.0	6.3		28.6		-14.3	14.	3									

-27.8 *Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

College of Visual and Performing Arts

Applied Music

			2nd I	Fall				3rd	Fall				4th	Fall				5th f	Fall				6th I	Fall				7th	Fall		
Cohort	N 1st Fall		Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		Graduated n 5 yrs	Cohort I	Retained	TRR		e Graduated n 6 yrs	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	1	0	0.0	1	100.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0
2001	2	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0	50.0
2002	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0
2003	6	0	0.0	6	100.0	100.0	1	16.7	5	83.3	100.0	4	66.7	1	16.7	83.3	4	66.7	2	33.3	100.0	5	83.3	1	16.7	100.0	6	100.0	0	0	100.0
2004	7	0	0.0	6	85.7	85.7	5	71.4	0	0.0	71.4	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	85.7
2005	2	0	0.0	2	100.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0.0	100.0	2	100.0	0	0	100.0
2006	9	0	0.0	8	88.9	88.9	5	55.6	4	44.4	100.0	8	88.9	1	11.1	100.0	8	88.9	0	0.0	88.9	8	88.9	0	0.0	88.9	8	88.9	0	0	88.9
2007	10	0	0.0	9	90.0	90.0	5	50.0	2	20.0	70.0	7	70.0	0	0.0	70.0	8	80.0	0	0.0	80.0	8	80.0	0	0.0	80.0	8	80.0	0	0	80.0
2008	9	0	0.0	7	77.8	77.8	6	66.7	1	11.1	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0	77.8
2009	16	0	0.0	15	93.8	93.8	10	62.5	3	18.8	81.3	13	81.3	1	6.3	87.5	13	81.3	0	0.0	81.3	14	87.5 84.6	0	0.0	87.5	14	87.5	0	0	87.5
2010 2011	13	0	0.0	12	92.3 87.5	92.3 87.5	8	61.5 50.0	2	15.4 25.0	76.9 75.0	10	76.9 75.0	0	0.0 25.0	76.9 100.0	10	76.9 87.5	0	0.0	76.9 87.5	11	84.6	1	7.7	92.3					
2011	11	0	0.0	9	81.8	81.8	6	54.5	4	36.4	90.9	9	72.7	1	9.1	81.8	,	67.3	U	0.0	07.3										
2012	0	0	0.0	8	88.9	88.9	6	66.7	1	11.1	77.8	ő	72.7	1	5.1	01.0															
2013	8	0	0.0	8	100.0	100.0	Ů	00.7		11.1	77.0																				
2015	12		0.0	Ü	100.0	100.0																									

*Includes full-time and part-time students, as well as new Moster's degree-students who enter the program with graduate level credits completed.

**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

21

Music Education

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		Graduated 2 yrs**	Cohort F	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	Retained	TRR		e Graduated in 5 yrs	Cohort I	Retained	TRR		e Graduated in 6 yrs	Cohort F	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	10	0	0.0	8	80.0	80.0	0	0.0	6	60.0	60.0	5	50.0	2	20.0	70.0	8	80.0	0	0.0	80.0	8	80.0	1	10.0	90.0	9	90.0	0	0	90.0
2001	4	0	0.0	2	50.0	50.0	1	25.0	0	0.0	25.0	2	50.0	0	0.0	50.0	2	50.0	0	0.0	50.0	3	75.0	0	0.0	75.0	3	75.0	1	25	100.0
2002	5	0	0.0	4	80.0	80.0	1	20.0	1	20.0	40.0	2	40.0	1	20.0	60.0	2	40.0	0	0.0	40.0	3	60.0	0	0.0	60.0	3	60.0	0	0	60.0
2003	4	0	0.0	3	75.0	75.0	0	0.0	3	75.0	75.0	1	25.0	1	25.0	50.0	2	50.0	1	25.0	75.0	4	100.0	0	0.0	100.0	4	100.0	0	0	100.0
2004	9	0	0.0	7	77.8	77.8	2	22.2	3	33.3	55.6	2	22.2	4	44.4	66.7	3	33.3	1	11.1	44.4	7	77.8	0	0.0	77.8	7	77.8	0	0	77.8
2005	7	0	0.0	6	85.7	85.7	2	28.6	3	42.9	71.4	3	42.9	3	42.9	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0.0	85.7	6	85.7	0	0	85.7
2006	9	0	0.0	6	66.7	66.7	4	44.4	4	44.4	88.9	6	66.7	1	11.1	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0.0	77.8	7	77.8	0	0	77.8
2007	5	0	0.0	3	60.0	60.0	2	40.0	1	20.0	60.0	3	60.0	1	20.0	80.0	4	80.0	0	0.0	80.0	5	100.0	0	0.0	100.0	5	100.0	0	0	100.0
2008	10	0	0.0	3	30.0	30.0	0	0.0	3	30.0	30.0	3	30.0	1	10.0	40.0	3	30.0	1	10.0	40.0	4	40.0	1	10.0	50.0	4	40.0	2	20	60.0
2009	11	1	9.1	4	36.4	45.5	2	18.2	5	45.5	63.6	3	27.3	4	36.4	63.6	6	54.5	1	9.1	63.6	7	63.6	1	9.1	72.7	10	90.9	0	0	90.9
2010	7	0	0.0	6	85.7	85.7	1	14.3	5	71.4	85.7	4	57.1	3	42.9	100.0	5	71.4	2	28.6	100.0	7	100.0	0	0.0	100.0					
2011	3	0	0.0	2	66.7	66.7	0	0.0	2	66.7	66.7	2	66.7	0	0.0	66.7	2	66.7	0	0.0	66.7										
2012	4	0	0.0	3	75.0	75.0	0	0.0	3	75.0	75.0	2	50.0	1	25.0	75.0															
2013	10	0	0.0	6	60.0	60.0	4	40.0	5	50.0	90.0																				
2014	3	0	0.0	2	66.7	66.7																									
2015	5																														
1 year ch	ange in rate		0.0		6.7	6.7		40.0		-25.0	15.0)	-16.7		25.0	8.3		-4.8	1	-28.6	-33.3		36.4		-9.1	27.3	3	50.9		-20.0	30.9

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.
**TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Music Theory, History, and Composition

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th	Fall		4
Cohort	N 1st Fall		e Graduated n 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort I	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		Graduated o 4 yrs	Cohort	Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	Ī	n	% 1F	n	% 1F	
2000	1	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2001	2	0	0.0	1	50.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0	50.0
2002	2	0	0.0	2	100.0	100.0	0	0.0	1	50.0	50.0	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	1	50.0	0	0.0	50.0	1	50.0	0	0	50.0
2003	0	-																													
2004	2	0	0.0	2	100.0	100.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	0	0	50.0
2005	5	0	0.0	3	60.0	60.0	1	20.0	1	20.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0.0	40.0	2	40.0	0	0	40.0
2006	3	0	0.0	3	100.0	100.0	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0.0	33.3	1	33.3	0	0	33.3
2007	2	0	0.0	2	100.0	100.0	0	0.0	0	0.0	0.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0	1	50.0	1	50.0	100.0	1	50.0	0	0	50.0
2008	3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	1	33.3	33.3	0	0.0	0	0.0	0.0	0	0.0	0	0	0.0
2009	1	0	0.0	1	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	1	100.0	0	0.0	100.0	1	100.0	0	0	100.0
2010	2	0	0.0	2	100.0	100.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0	0	0.0	0	0.0	0.0					
2011	2	0	0.0	1	50.0	50.0	0	0.0	0	0.0	0.0	1	50.0	0	0.0	50.0	1	50.0	0	0.0	50.0										
2012	0	-																													
2013	3	0	0.0	3	100.0	100.0	2	66.7	1	33.3	100.0																				
2014	1	0	0.0	0	0.0	0.0																									
2015	1																														

^{*}Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Full-time

			2nd	Fall				3rd	Fall				4th	Fall				5th F	all				6th	Fall				7th	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		re Graduated o 2 yrs**	Cohort	: Retained	TRR		ve Graduated nin 3 yrs	Cohort I	Retained	TRR	Cumulative within	e Graduated n 4 yrs	Cohort I	Retained	TRR		Graduated	Cohort F	Retained	TRR		Graduated	Cohort	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	106	3	2.8	91	85.8	88.7	43	40.6	32	30.2	70.8	72	67.9	9	8.5	76.4	76	71.7	0	0.0	71.7	80	75.5	2	1.9	77.4	83	78.3	1	0.9	79.2
2001	125	6	4.8	97	77.6	82.4	57	45.6	29	23.2	68.8	93	74.4	5	4.0	78.4	96	76.8	0	0.0	76.8	98	78.4	1	0.8	79.2	100	80.0	0	0.0	80.0
2002	156	9	5.8	116	74.4	80.1	75	48.1	37	23.7	71.8	107	68.6	5	3.2	71.8	115	73.7	0	0.0	73.7	117	75.0	0	0.0	75.0	117	75.0	2	1.3	76.3
2003	158	7	4.4	132	83.5	88.0	85	53.8	33	20.9	74.7	122	77.2	3	1.9	79.1	127	80.4	3	1.9	82.3	133	84.2	1	0.6	84.8	134	84.8	0	0.0	84.8
2004	168	11	6.5	132	78.6	85.1	97	57.7	30	17.9	75.6	127	75.6	2	1.2	76.8	134	79.8	0	0.0	79.8	138	82.1	0	0.0	82.1	139	82.7	1	0.6	83.3
2005	165	18	10.9	122	73.9	84.8	79	47.9	42	25.5	73.3	123	74.5	3	1.8	76.4	130	78.8	0	0.0	78.8	132	80.0	0	0.0	80.0	133	80.6	0	0.0	80.6
2006	200	14	7.0	167	83.5	90.5	114	57.0	45	22.5	79.5	159	79.5	6	3.0	82.5	164	82.0	4	2.0	84.0	173	86.5	0	0.0	86.5	174	87.0	1	0.5	87.5
2007	221	20	9.0	173	78.3	87.3	118	53.4	55	24.9	78.3	171	77.4	8	3.6	81.0	181	81.9	1	0.5	82.4	182	82.4	2	0.9	83.3	184	83.3	0	0.0	83.3
2008	213	26	12.2	171	80.3	92.5	137	64.3	35	16.4	80.8	170	79.8	4	1.9	81.7	175	82.2	5	2.3	84.5	180	84.5	1	0.5	85.0	183	85.9	1	0.5	86.4
2009	275	15	5.5	228	82.9	88.4	161	58.5	52	18.9	77.5	210	76.4	6	2.2	78.5	218	79.3	2	0.7	80.0	222	80.7	2	0.7	81.5	227	82.5	1	0.4	82.9
2010	283	12	4.2	230	81.3	85.5	170	60.1	43	15.2	75.3	216	76.3	5	1.8	78.1	222	78.4	1	0.4	78.8	226	79.9	1	0.4	80.2					
2011	306	31	10.1	245	80.1	90.2	201	65.7	49	16.0	81.7	250	81.7	7	2.3	84.0	259	84.6	1	0.3	85.0										
2012	279	33	11.8	221	79.2	91.0	197	70.6	35	12.5	83.2	232	83.2	9	3.2	86.4															
2013	331	43	13.0	246	74.3	87.3	231	69.8	48	14.5	84.3																				
2014	337	36	10.7	265	78.6	89.3																									
2015	343																														

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th I	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	: Retained	TRR**		ve Graduated	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR	Cumulative within	Graduated n 4 yrs	Cohort	Retained	TRR		Graduated	Cohort	Retained	TRR		Graduated 6 yrs	Cohort I	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	229	3	1.3	173	75.5	76.9	40	17.5	120	52.4	69.9	87	38.0	57	24.9	62.9	136	59.4	0	0.0	59.4	158	69.0	8	3.5	72.5	166	72.5	3	1.3	73.8
2001	216	5	2.3	163	75.5	77.8	26	12.0	121	56.0	68.1	82	38.0	58	26.9	64.8	121	56.0	0	0.0	56.0	139	64.4	10	4.6	69.0	150	69.4	6	2.8	72.2
2002	227	2	0.9	161	70.9	71.8	18	7.9	138	60.8	68.7	76	33.5	61	26.9	60.4	122	53.7	0	0.0	53.7	145	63.9	6	2.6	66.5	156	68.7	2	0.9	69.6
2003	223	4	1.8	163	73.1	74.9	38	17.0	111	49.8	66.8	89	39.9	57	25.6	65.5	136	61.0	19	8.5	69.5	151	67.7	12	5.4	73.1	163	73.1	3	1.3	74.4
2004	242	3	1.2	179	74.0	75.2	31	12.8	124	51.2	64.0	92	38.0	50	20.7	58.7	133	55.0	14	5.8	60.7	156	64.5	4	1.7	66.1	161	66.5	3	1.2	67.8
2005	223	1	0.4	170	76.2	76.7	32	14.3	121	54.3	68.6	95	42.6	60	26.9	69.5	135	60.5	20	9.0	69.5	154	69.1	5	2.2	71.3	159	71.3	1	0.4	71.7
2006	212	2	0.9	148	69.8	70.8	41	19.3	100	47.2	66.5	88	41.5	52	24.5	66.0	129	60.8	15	7.1	67.9	139	65.6	3	1.4	67.0	143	67.5	1	0.5	67.9
2007	274	6	2.2	209	76.3	78.5	71	25.9	138	50.4	76.3	143	52.2	64	23.4	75.5	194	70.8	21	7.7	78.5	210	76.6	10	3.6	80.3	220	80.3	0	0.0	80.3
2008	262	10	3.8	184	70.2	74.0	75	28.6	109	41.6	70.2	138	52.7	41	15.6	68.3	166	63.4	16	6.1	69.5	178	67.9	7	2.7	70.6	184	70.2	4	1.5	71.8
2009	274	15	5.5	185	67.5	73.0	76	27.7	115	42.0	69.7	141	51.5	46	16.8	68.2	173	63.1	17	6.2	69.3	189	69.0	7	2.6	71.5	200	73.0	3	1.1	74.1
2010	283	7	2.5	213	75.3	77.7	64	22.6	139	49.1	71.7	145	51.2	55	19.4	70.7	190	67.1	18	6.4	73.5	207	73.1	4	1.4	74.6					
2011	251	3	1.2	181	72.1	73.3	43	17.1	131	52.2	69.3	125	49.8	49	19.5	69.3	166	66.1	14	5.6	71.7										
2012	254	8	3.1	194	76.4	79.5	70	27.6	128	50.4	78.0	142	55.9	50	19.7	75.6															
2013	290	2	0.7	218	75.2	75.9	49	16.9	153	52.8	69.7																				
2014	275	3	1.1	207	75.3	76.4																									
2015	343														1	1															

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.

Retention and Graduation Rates for All New Master's Degree-Seeking Graduate Students*--By Tuition Residency

In-State

			2nd l	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th I	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohort	Retained	TRR**		e Graduated 2 yrs**	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR		e Graduated n 4 yrs	Cohort	t Retained	TRR	Cumulative within	Graduated 5 yrs	Cohort R	etained	TRR		Graduated 6 yrs	Cohort F	Retained	TRR
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	1
2000	287	5	1.7	221	77.0	78.7	68	23.7	128	44.6	68.3	132	46.0	59	20.6	66.6	174	60.6	0	0.0	60.6	198	69.0	9	3.1	72.1	207	72.1	4	1.4	73.5
2001	294	10	3.4	223	75.9	79.3	64	21.8	138	46.9	68.7	144	49.0	58	19.7	68.7	185	62.9	0	0.0	62.9	203	69.0	11	3.7	72.8	216	73.5	5	1.7	75.2
2002	325	10	3.1	231	71.1	74.2	74	22.8	153	47.1	69.8	154	47.4	57	17.5	64.9	197	60.6	0	0.0	60.6	219	67.4	6	1.8	69.2	229	70.5	3	0.9	71.4
2003	331	10	3.0	255	77.0	80.1	106	32.0	129	39.0	71.0	176	53.2	59	17.8	71.0	225	68.0	19	5.7	73.7	244	73.7	12	3.6	77.3	256	77.3	3	0.9	78.2
2004	342	13	3.8	257	75.1	78.9	101	29.5	129	37.7	67.3	180	52.6	44	12.9	65.5	220	64.3	13	3.8	68.1	241	70.5	4	1.2	71.6	247	72.2	4	1.2	73.4
2005	336	13	3.9	256	76.2	80.1	89	26.5	149	44.3	70.8	182	54.2	59	17.6	71.7	224	66.7	19	5.7	72.3	245	72.9	4	1.2	74.1	250	74.4	1	0.3	74.7
2006	318	15	4.7	239	75.2	79.9	109	34.3	121	38.1	72.3	184	57.9	49	15.4	73.3	224	70.4	17	5.3	75.8	238	74.8	3	0.9	75.8	243	76.4	2	0.6	77.0
2007	414	24	5.8	318	76.8	82.6	164	39.6	164	39.6	79.2	263	63.5	64	15.5	79.0	316	76.3	21	5.1	81.4	333	80.4	12	2.9	83.3	344	83.1	0	0.0	83.1
2008	408	33	8.1	304	74.5	82.6	179	43.9	129	31.6	75.5	267	65.4	39	9.6	75.0	297	72.8	18	4.4	77.2	312	76.5	8	2.0	78.4	319	78.2	4	1.0	79.2
2009	474	26	5.5	350	73.8	79.3	196	41.4	154	32.5	73.8	293	61.8	50	10.5	72.4	333	70.3	19	4.0	74.3	350	73.8	9	1.9	75.7	366	77.2	4	0.8	78.1
2010	487	18	3.7	379	77.8	81.5	196	40.2	166	34.1	74.3	303	62.2	58	11.9	74.1	354	72.7	19	3.9	76.6	375	77.0	5	1.0	78.0					
2011	480	29	6.0	365	76.0	82.1	199	41.5	171	35.6	77.1	320	66.7	51	10.6	77.3	363	75.6	15	3.1	78.8										
2012	453	37	8.2	348	76.8	85.0	222	49.0	144	31.8	80.8	312	68.9	54	11.9	80.8															
2013	525	41	7.8	387	73.7	81.5	221	42.1	181	34.5	76.6																				
2014	517	35	6.8	401	77.6	84.3																									
2015	592														l																

*Includes full-time and part-time students, as well as new Master's degree-students who enter the program with graduate level credits completed.

Out-of-State

			2nd	Fall				3rd	Fall				4th	Fall				5th	Fall				6th	Fall				7th I	Fall		
Cohort	N 1st Fall		e Graduated in 1 yr	Cohor	t Retained	TRR**		ve Graduated	Cohort	Retained	TRR		e Graduated n 3 yrs	Cohort	Retained	TRR	Cumulative within	e Graduated n 4 yrs	Cohort	t Retained	TRR		e Graduated n 5 yrs	Cohort I	Retained	TRR		Graduated 6 yrs	Cohort I	Retained	TRI
		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F		n	% 1F	n	% 1F	
2000	48	1	2.1	43	89.6	91.7	15	31.3	24	50.0	81.3	27	56.3	7	14.6	70.8	38	79.2	0	0.0	79.2	40	83.3	1	2.1	85.4	42	87.5	0	0.0	87.:
001	47	1	2.1	37	78.7	80.9	19	40.4	12	25.5	66.0	31	66.0	5	10.6	76.6	32	68.1	0	0.0	68.1	34	72.3	0	0.0	72.3	34	72.3	1	2.1	74.
002	58	1	1.7	46	79.3	81.0	19	32.8	22	37.9	70.7	29	50.0	9	15.5	65.5	40	69.0	0	0.0	69.0	43	74.1	0	0.0	74.1	44	75.9	1	1.7	77.
003	50	1	2.0	40	80.0	82.0	17	34.0	15	30.0	64.0	35	70.0	1	2.0	72.0	38	76.0	3	6.0	82.0	40	80.0	1	2.0	82.0	41	82.0	0	0.0	82.
004	68	1	1.5	54	79.4	80.9	27	39.7	25	36.8	76.5	39	57.4	8	11.8	69.1	47	69.1	1	1.5	70.6	53	77.9	0	0.0	77.9	53	77.9	0	0.0	77.
05	52	6	11.5	36	69.2	80.8	22	42.3	14	26.9	69.2	36	69.2	4	7.7	76.9	41	78.8	1	1.9	80.8	41	78.8	1	1.9	80.8	42	80.8	0	0.0	80
006	94	1	1.1	76	80.9	81.9	46	48.9	24	25.5	74.5	63	67.0	9	9.6	76.6	69	73.4	2	2.1	75.5	74	78.7	0	0.0	78.7	74	78.7	0	0.0	78
07	81	2	2.5	64	79.0	81.5	25	30.9	29	35.8	66.7	51	63.0	8	9.9	72.8	59	72.8	1	1.2	74.1	59	72.8	0	0.0	72.8	60	74.1	0	0.0	74
800	67	3	4.5	51	76.1	80.6	33	49.3	15	22.4	71.6	41	61.2	6	9.0	70.1	44	65.7	3	4.5	70.1	46	68.7	0	0.0	68.7	48	71.6	1	1.5	7.
09	75	4	5.3	63	84.0	89.3	41	54.7	13	17.3	72.0	58	77.3	2	2.7	80.0	58	77.3	0	0.0	77.3	61	81.3	0	0.0	81.3	61	81.3	0	0.0	8.
10	79	1	1.3	64	81.0	82.3	38	48.1	16	20.3	68.4	58	73.4	2	2.5	75.9	58	73.4	0	0.0	73.4	58	73.4	0	0.0	73.4					
011	77	5	6.5	61	79.2	85.7	45	58.4	9	11.7	70.1	55	71.4	5	6.5	77.9	62	80.5	0	0.0	80.5										
012	80	4	5.0	67	83.8	88.8	45	56.3	19	23.8	80.0	62	77.5	5	6.3	83.8															
013	96	4	4.2	77	80.2	84.4	59	61.5	20	20.8	82.3																				
014	95	4	4.2	71	74.7	78.9																									
015	94																														

^{**}TRR - Total retention rate = percent of the original cohort that has been retained or graduated in the fall indicated.